
Powermate Air Compressor Service Parts Price List 
 

Powermate Inc. reserves the right to discontinue or change pricing and 
specifications at any time without advanced notice. Verification of this 
Service Parts List may be obtained by contacting Coleman Powermate 

Product Service Representatives at (800) 445-1805. 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
       Effective Date: 01/08  



Powermate, Inc                                                                                             January 2008 

Powermate Air Compressor Service Part Pricing 
 
 
 
Part Number Description List 
001-0152 MAG STARTER-FURNAS 230/1 $120.92  
001-0153 MAG STARTER 7.5 HP 1 PH $149.16  
001-0155 MAG STARTER COVER FURNAS $41.87  
001-0156 MAG STARTER 10 HP 3PH SVC $219.14  
001-0158 MAG STARTER, 7.5HP, 1 PH $192.28  
001-0159 MAG STARTER 5 HP 3PH SVC $133.31  
001-0160 MAG STARTER 10HP 3PH $164.39  
001-0161 MAG STARTER 5 HP 1 PH SVC $139.71  
002-0027 HEATER GE CR123C163B $23.30  
002-0028 HEATER GE CR123C180B $23.30  
002-0029 HEATER GE CR123C214B $13.84  
002-0030 HEATER GE CR123C228B $13.31  
002-0033 HEATER GE CR123C303B $23.30  
002-0034 HEATER GE CR123C330B $23.30  
002-0035 HEATR GE CR123C366B $13.62  
002-0048 HEATER GE CR123C198B $34.28  
002-0051 HEATER E69 FURNAS $13.84  
002-0052 HEATER FURNAS E65 $13.84  
002-0053 HEATER E61, FURNAS $13.84  
002-0054 HEATER E66, FURNAS $13.84  
002-0055 HEATER E60 $13.62  
002-0057 HEATER CIRCULATION 80/100F 500W $195.12  
004-0001 HUB H-1 1/8 $13.13  
004-0002 HUB H-1 3/8 $13.13  
004-0003 HUB H-1 $13.13  
004-0005 HUB H-7/8 $12.06  
004-0018 SPLIT TAPER BUSH P1X1.00 $19.59  
004-0019 HUB, 1.86 O.D. X 1" I.D. $27.91  
005-0017 ROUND NOZZLE INT MIX $17.39  
005-0018 ANGLE NOZZLE INT MIX $17.85  
005-0020 AIR JET 3/32" $17.54  
005-0037 VARIABLE W/LANCE NOZZLE $16.90  
006-0009 PULLEY, 3" X 5/8" BORE A-W 1 GROOVE $11.47  
006-0012 SHEAVE 2"OD X5/8B A-W CI $10.66  
006-0014 SHEAVE 2.6"X5/8B A-W CI $9.88  
006-0018 SHEAVE 3.75"X5/8B A-W CI $17.04  
006-0022 SHEAVE 3.15"X5/8B B-W CI $17.32  
006-0031 SHEAVE 8.75"OD A & B 2-G $79.55  
006-0059 SHEAVE 2.95"X5/8B B-W CI $16.94  
006-0069 SHEAVE 2.5"X 5/8B A-W CI $12.71  
006-0070 SHEAVE 2.20"X5/8B A-W CI $11.12  
006-0072 SHEAVE 6.25"OD A-W 2-G $63.70  
006-0082 SHEAVE 4.45 X 5/8 B AN CI $36.79  
006-0086 SHEAVE 5.75"OD X7/8B A-W $22.33  
006-0087 SHEAVE 2.8"X5/8B A-W CI $15.59  



Powermate, Inc                                                                                             January 2008 

006-0091 SHEAVE 3.45"X 3/4"B AK34 $15.11  
006-0096 SHEAVE 5.75" A-W 1-G $25.52  
006-0099 SHEAVE 3.25 X 3/4B A-W $15.65  
006-0101 SHEAVE 7.75" OD B-W 2-G $67.41  
006-0106 SHEAVE 4.75X7/8B A-W 1-G $22.78  
006-0108 SHEAVE 3.95X5/8B A-W 1-G $16.81  
006-0110 SHEAVE 4.95 OD B-W 2-G $30.93  
006-0119 PULLEY 6.20 PD X 1.125B $26.20  
006-0124 2TAG4 A-SHEAVE 2-GROOVE $100.60  
006-0126 SHEAVE, 5.45 OD 2 GRV $45.39  
006-0127 SHEAVE - 7.2 O.D. $50.91  
006-0134 SHEAVE-4.25 O.D. A-W $18.09  
006-0136 PULLEY, 5.45 OD, IG $31.38  
006-0137 SHEAVE, 4.45 OD, 2 GROOVE $27.95  
006-0138 SHEAVE, 4.15 O.D., 2-GROOVE $61.41  
006-0139 SHEAVE, 4.15 O.D. 1 GROOVE $43.43  
006-0140 SHEAVE, 3.75 O.D. 2 GROOVE B-W $32.75  
006-0142 SHEAVE 4.25 X 5/8" BORE A-W $17.86  
006-0143 SHEAVE 5.45OD X 7/8" BORE $22.33  
006-0146 SHEAVE, BK34-3/4" $13.00  
006-0147 SHEAVE, AK44 7/8" $22.70  
006-0148 SHEAVE, AK39 7/8" $18.61  
006-1001 2BK70H $132.06  
006-1011 SHEAVE 2BK62H 5.95OD 2G $55.13  
006-1014 SHEAVE 2B160SK 16.35 OD $198.70  
007-0002 V-BELT A64 A-W $10.14  
007-0005 V-BELT A69 A-W $10.59  
007-0011 V-BELT 4L-470 A-W $7.60  
007-0012 V-BELT 4L-490 A-W $7.42  
007-0013 V-BELT 4L-510 $7.24  
007-0021 V-BELT 4L-500 A-W $7.24  
007-0028 V-BELT A62 $10.64  
007-0034 V BELT A 58 $10.42  
007-0034 V BELT A58 $10.27  
007-0035 V - BELT A60 AW $9.88  
007-0036 V-BELT 4L-520 A-W $7.31  
007-0037 V-BELT 4L-530 $7.41  
007-0038 V-BELT 4L550 $8.04  
007-0045 V-BELT A57 $10.06  
007-0048 V-BELT 4L540 $7.82  
007-0049 V-BELT A51 $9.23  
007-0060 V-BELT A67 $11.01  
007-0063 V-BELT, A46 $10.94  
007-0066 V-BELT, A63 $11.46  
007-0069 V BELT A52 $10.53  
008-0002 V-BELT 5L590 $32.05  
008-0031 V-BELT 5L-530 $9.53  
008-0036 V-BELT 5L-540 B-W $16.44  
008-0039 V-BELT B67 B-W $17.19  
008-0040 V-BELT B64 B-W $17.19  



Powermate, Inc                                                                                             January 2008 

008-0041 V-BELT B70 B-W $17.19  
008-0044 B79 V-BELT $18.71  
008-0046 V-BELT, BX36 COGGED $20.51  
008-0048  $15.75  
008-0050 V-BELT BX54 COGGED $33.07  
008-0059 V-BELT B80 $19.58  
008-0101 V-BELT B78 B-W $19.21  
008-0104 V-BELT B81 $30.97  
010-0021 SOAP LANCE NOZZLE $7.59  
012-0054 HSE 1/4X48 1/4NPT &CHUCK $11.24  
012-0080 HOSE REEL WELDMENT 10" $80.96  
012-0081 AIR HOSE 3/8" INTERCONNECT $34.62  
012-0101 HOSE REEL WELDMENT $23.97  
012-0101 HOSE REEL WELDMENT $23.97  
012-0126 AIR HOSE - ALTON K148-1000 $9.85  
012-0127 HOSE & GUN ASSY HIGH PRESSURE $34.61  
018-0059 OIL, AIR TOOL 12 PACK $49.69  
018-0060 OIL, ALL WEATHER 12 PACK $81.06  
018-0063 OIL, SLC1, 1 GALLON $39.75  
019-0023 FLTR ELE 14 FOR 019-0022 $10.75  
019-0052 AIR FLTR(WOOLFLT)130,165 $1.19  
019-0053 FLTR ELE #8 FOR 019-0049 $10.73  
019-0090 FLTR ASY 165 SMC $17.40  
019-0096 FILTR PLATE MACH-165 $1.88  
019-0097 FLTR ASY - SC23, SC46 $33.05  
019-0104 AIR FLTR ASY B5000,B6000 $29.10  
019-0105 REPL ELEM FOR 019-0104 $17.62  
019-0115 AIR LINE REG 3/8" - WK $115.84  
019-0129 MODULAR SLEEVE $7.56  
019-0138 FLTR ASY B4900 $23.22  
019-0139 FLTR ELEMENT B4900 $11.04  
019-0143 AIR FILTER INTAKE $4.47  
019-0149 FILTER ASY B4900A $31.11  
019-0152 FILTER 3HP DD OILLESS $1.10  
019-0154 AIR FILTER ELEMENT 4900A $29.08  
019-0164 FILTER, AIR FOAM $1.10  
019-0165 FILTER-CANNISTER, 1/2NPT $9.01  
019-0166 FILTER-ELEMENT $4.60  
019-0167 RGLTR-AIR LINE, 1/4 NPT $18.61  
019-0169 FILTER ELEMENT - B7000 $167.56  
019-0170 FILTER ASSY - B7000 $277.70  
019-0171 FILTER CANISTER, 1/2NPT $31.69  
019-0172 FILTER ELEMENT $18.09  
019-0182 REGULATOR LEFT TO RIGHT $21.68  
019-0186 FILTER, INTAKE FOAM $1.10  
019-0190 REGULATOR-NORGREN, R72,3/8 $45.94  
019-0191 FILTER-1/4" FUEL LINE, KRN# 0047790 $4.24  
019-0192 FILTER/INTAKE MUFFLER TUBE $6.36  
019-0193 FILTER-INTAKE, GM212 $16.52  
019-0194 FILTER PLATE, GM212 $3.39  



Powermate, Inc                                                                                             January 2008 

019-0195 REGULATOR, 1/4" GM212 $22.50  
019-0196 REGULATOR, INFLATOR $21.89  
019-0199 FILTER SCREEN 123 PUMP $1.10  
019-0201 FILTER-INTAKE FOAM $1.10  
019-0215 VALVE, 1/4" PRV $34.76  
019-0217 FILTER, INTAKE, 317007000, FINI $4.03  
019-0218 FILTER, INTAKE VPP0200604 $2.20  
019-0219 FILTER, INTAKE VPP0301104 01205-03 $4.40  
019-0220 FELT FILTER, 753H PMP $6.11  
019-0221 FILTER ELEMENT 14 CFM L712141 $7.20  
019-0222 FILTER ASY, CANISTER L180006 14 CMF $21.98  
019-0223 FILTER ASY, CANISTER L180017 18 CFM $32.36  
019-0224 FILTER ELEMENT, 18CFM L712149 $7.41  
019-0226 REGULATOR, INFLATIONMATE 9310B102 $22.39  
019-0234 REGULATOR, XINLET 2.0.10.052 $12.76  
019-0235 INTAKE FILTER XINLET 1.5.097.003 $5.61  
019-0239 FILTER ASY 712198 $12.76  
019-0240 FILTER ELEMENT 712207 $4.84  
019-0241 H.P. INLET CAGE KELLOGG $4.90  
019-0242 H.P. DISCHARGE CAGE KELLOGG $4.90  
019-0243 L.P. INLET CAGE KELLOGG $4.53  
019-0244 L.P. DISCHARGE CAGE KELLOGG $4.28  
019-0245 FILTER ASY KELLOGG $33.14  
019-0246 FILTER ELEMENT KELLOGG $10.25  
019-0253 AIR FILTER VPK0880803 $5.50  
019-0254 AIR FILTER VPK1581768 $1.32  
019-1067 MUFFLER-N SERIES $9.30  
020-0010 PRES REG VLV-OILLESS HH $51.56  
020-0012 RGLTR, CONTROL VALVE $23.01  
020-0015 VALVE PRESSURE CONTROL $26.92  
021-0148 KIT, TANK 80GL V, SERV $690.40  
021-0149 KIT, TANK 80GL H, SERV $922.42  
021-0183 KIT-TANK, 80GAL VERT $681.36  
021-0191 TANK KIT 80 GAL VERT $681.36  
021-0199 KIT SERVICE TANK, 44GAL VERT, FL $403.41  
021-0201 SERVICE KIT TANK 60 GAL VERTICAL $430.75  
021-0210 SERVICE TANK 80 GAL VERT $681.95  
021-0214 TANK, 50 H GAS B&S& HONDA $954.20  
021-0215 TANK, SVC, 50 H GAS KOHLER $799.61  
021-0217 KIT - SERVICE TANK, 44 GAL, OILLESS $364.96  
021-0219 TANK KIT, 40 GAL VERT. PORT. $406.57  
021-0223 TANK KIT 60V W/CONTROL PANEL $384.68  
021-0226 TANK ASSY 40 GAL VP $300.99  
021-0230 TANK KIT, 60 GAL VERT 14CFM $391.48  
021-0231 TANK ASSY 80 GAL 18 CFM $531.52  
021-0235 TANK ASY 80 GAL 14 CFM $542.44  
021-0236 TANK ASY 80 GAL KELLOGG $679.61  
024-0089 CUT-OFF TOOL, WHITE BOX $36.63  
024-0156 HOSE REEL ASSY, 10" DIAMETER $102.27  
024-0159 WORK BENCH TOP $50.16  



Powermate, Inc                                                                                             January 2008 

024-0160 TOOL TRAY WORKBENCH $21.16  
024-0176 35 PIECE TOOL KIT $82.49  
024-0177 TIRE INFLATOR, DIAL GAUGE, WHITE BOX $24.01  
024-5000 VALVE WRENCH $56.72  
025-0032 GAS ENG ASSY 10HP KOLER $2,402.76  
025-0033 ENG-HON 5.5 HP GX160QXF $745.75  
025-0045 ENG 5.5HP, B & S, INTEK, KOOL BORE $605.19  
025-0051 ENGINE-HONDA GX340 W/O GAS TANK $1,736.83  
025-0211 HON ENG #GX340 QAE $1,582.81  
026-0021 WIRE NUT CON 14-22 $1.10  
026-0030 CORD, POWER - 14/3, 115V, 15A $12.33  
026-0051 INTC CORD 14/2 X 34 LA $7.73  
026-0074 INTC CRD 14/2 X 34" 105D $6.58  
026-0075 WIRE NUT CON 8-22 (RED) $1.10  
026-0088 INTC CRD 14/3 X 15" $9.16  
026-0139 INTC CORD 2 WIRE $6.35  
026-0142 CORD, POWER, 14/3 115V 15A $10.03  
026-0160 CORD, INTERCONNECT 14/3 X28" $8.15  
026-0161 POWER CORD $20.80  
026-0162 INTERCONNECT CORD $5.14  
026-0176 POWER CORD DD CSA $22.08  
026-0184 CORD, INTERCONNECT, 10/3 X 29" $19.92  
026-0187 CORD, POWER, 14/3 220V 15A $19.28  
026-0188 CORD, INTERCONNECT, 14/2 X 21" $4.69  
026-0189 CORD, INTERCONNECT, 10/4 X 31" $13.40  
026-0191 CORD, INTCON $10.27  
026-0218 LINKAGE-THRTL 5HP HONDA $7.44  
026-0221 CORD, INTERCONNECT, 14/3 X 14" $7.70  
026-0222 POWER CORD 230V 15A $22.85  
026-0223 CORD, INTERCONNECT, 14/3 X 30" $6.79  
026-0224 CORD ASSY POWER SUPPLY $9.27  
026-0230 CORD, POEWR, 14/3 250V 16A $20.10  
026-0233 CORD, INTERCONNECT, 14/3 X 22" $7.18  
026-0235 CABLE-THROT CONT, 20 IN $30.07  
026-0237 CABLE-THROT CONT, 16 IN $29.77  
026-0284 CABLE-ENG THROT CONTROL $51.74  
026-0289 CORD, POEWR, 14/3/115V 15A $8.86  
026-0295 CORD, INTERCONNECT, 14/2 X 33" $6.36  
026-0298 CORD - INTERCONNECT, 14/3 SJT $8.24  
026-0299 CORD, INTERCONNECT 10/3 X 28" $8.11  
026-0300 CORD, POWER 10/3 230V 30A $22.48  
026-0301 CORD, INTERCONNECT 10/3 X 16" $8.04  
026-0307 CORD-POWER, GM212 $28.91  
026-0309 FUSE HOLDER, .25 RT ANG DUAL POWER $6.57  
026-0312 CORD INTERCONNECTING 10/3X28" $8.34  
026-0315 CORD, INTERCONNECT 14/3 X 30" $8.76  
026-0316 POWER CORD SJT 14/3 115V 15 AMP $13.28  
026-0319 CORD-POWER 14/3 115V 25' $40.98  
026-0320 CORD-INTERCONNECT WORKBENCH $15.26  
026-0321 POWER CORD 115V UP100 $19.08  



Powermate, Inc                                                                                             January 2008 

026-0326 POWERCORD SO/ST 16/3 115 $13.58  
026-0327 POWER CORD SST 16/3 1/5 15A $9.81  
026-0522 POWER CORD PUMA $19.54  
026-0523 CIRCUIT BREAKER, PUMA $7.00  
026-0639 CORD, POWER, 164A08400, FINI $11.64  
026-0650 CORD-POWER, 12/3 X 6' W/6-20P PLUG $24.69  
026-0658 CORD-POWER, 30A ST 10 GA/3 $31.64  
026-0664 POWER CORD VPP0200604 01204-17 $14.00  
026-0665 POWER CORD VPP0301104 01205-05 $17.50  
026-0689 PROGRAMMABLE CONTROL BRD PHS 1 $77.37  
026-0691 POWER CORD, 115 V DS $14.57  
026-0697 PROGRAMMED CTRL BOARD KIT, DIGITAL $82.61  
026-0709 ASSEMBLY SOLENOID BLOCK $35.23  
026-0710 PROGRAMMED CTRL BOARD ASSY DS II $106.80  
026-0719 CORD-POWER 115 VOLT 15 AMP $19.58  
026-0775 CORD POWER VPK0880803 $16.72  
026-0775 POWER CORD VPK0880803 $16.72  
027-0022 FAN, 6 INCH 4 BLADE $5.58  
027-0033 FAN, SQUIRREL CAGE, PLASTIC $7.16  
027-0034 FAN, GM212 $11.25  
027-0040 FAN VPK1581768 $3.30  
027-0042 FAN MOTOR END VPK0880803 $2.20  
027-0043 FAN BLADE MTR END VPK0880803 $1.83  
028-0005 MNFLD CR BR STOCK 1/4NPT $10.25  
028-0019 BLOCK CROSS GAS PORT IND $92.51  
028-0026 BRASS CR W/SHUT OFF $27.11  
028-0029 BRASS CROSS W/SHUTOFF $20.17  
028-0036 MANF CROSS W/135 RLF V $17.61  
028-0039 MANIFOLD, CARRY TANK $17.46  
031-0003 CK VLV 1/2 NPT CI BRZ $37.66  
031-0006 CK VLV BL 3/8 X 1/2 $21.44  
031-0018 CK VLV NO BLDR 3/4 X 3/4 $26.80  
031-0020 CK VLV 3/4OD X3/4ID W/BL $26.54  
031-0024 CK VLV SUB 1/2 X 1/2 $19.38  
031-0029 PILOT VLV W/DUAL CONTROL $44.52  
031-0035 CK VLV SUB 1/2X1/2 4,500 $14.46  
031-0036 CK VLV 3/4OD X3/4OD W/BL $28.92  
031-0037 CK VLV 1/2NPTX3/8 OD TB $14.46  
031-0039 1/4 CK VLV #CA-6E $20.57  
031-0040 CK VLV SC46 $33.77  
031-0046 CK VLV 3/4NPTX3/4OD TUBE $26.42  
031-0053 CHECK VALVE ASY DV $21.48  
031-0057 AIR VALVE, CHINA $15.53  
031-0059 CHK V, 3/4 NPT X 3/4 $27.12  
031-0060 CHK V-1/2"NPT X 1/2"TUBE $14.46  
031-0066 CHECK VALVE 1/2X3/8 $14.46  
031-0067 CHECK VALVE, CM212 $32.01  
031-0069 CHECK VALVE $13.50  
031-0071 CK VL ECONO 1/2" NPT X 3/8 TB 1/2 BL $10.79  
031-0072 CK VLV, 1/2" X 3/8" COMP W/O BLDR $11.02  



Powermate, Inc                                                                                             January 2008 

031-0073 CHECK VALVE PUSH IN $16.14  
031-0074 CHECK VALVE, BLEEDER PUSH IN $16.14  
031-0075 Check Valve 1/2"-14MPT x 3/8" $11.99  
031-0076 CHK VLV, PUMA 2414036 $18.72  
031-0077 CHECK VALVE, 347043000, FINI $7.33  
031-0080 CK VLV VPP0301104 & 0200604 01204-08 $8.14  
031-0081 CHECK VALVE ALTON K035-3121 $12.86  
031-0084 CHECK VALVE XINLET 1.5.065.034 $8.36  
031-0087 CHECK VALVE 1.5.065.039 VPK0880803 $8.36  
032-0003 GAGE 160# 1/4 BOT CON $9.83  
032-0019 SIGHT GLASS B5,6,7000 $11.80  
032-0024 GAGE 300# 1/4 BACK CON $9.83  
032-0025 GAGE 300# 1/4 BOT CON $8.86  
032-0031 SITE GL FLG W/032-0023 $9.17  
032-0044 SIGHT GLASS W/GASKET $7.37  
032-0056 GAUGE - 220 # 1/8" NPT BLACK $8.49  
032-0057 GAUGE $21.81  
032-0058 GAUGE 160# 1/8" BOTTOM CONNECT $8.83  
032-0061 GAUGE, 2" SILICON FILLED 1/4" BK CONN $31.93  
032-0063 GAUGE-PRESSURE, GM212 $30.98  
032-0064 GAUGE-PRESSURE, GM212 $19.27  
032-0065 GUAGE 2" DIA FACE X 1/8" BACK CONNECT $9.05  
032-0066 GAUGE COLEMAN 0-220PSI $9.05  
032-0070 GAUGE, 160 PSI AGSCO CARRY TANK $9.66  
032-0071 OIL SIGHT GLASS, ROUND SC23/46 $15.79  
032-0072 OIL SIGHT GLASS, 753/755H $8.14  
032-0073 SIGHT GLASS W/ORINGS VPP0200604 $6.11  
032-0074 SIGHT GLASS W/ORINGS VPP0301104 $6.11  
032-0075 OIL SIGHT GLASS W/ORING L731005 14CFM $16.28  
032-0077 PRES GAUGE, INFLATIONMATE 9310B012 $11.80  
032-0082 GUAGE KOBALT 255" 1/8" BK CONN $5.50  
032-0083 GUAGE PRESSURE ALTON K003-2501 $24.42  
032-0088 GAUGE PRESSURE XINLET 1.5.019.056 $8.47  
032-0089 GAUGE VN0000101 $9.79  
032-0091 OIL SIGHT GLASS W/ORING 731022 $9.02  
032-0092 GAUGE 300# 1/8 BACK CONNECT $11.00  
032-0093 SIGHT GLASS W/GASKET KELLOGG $16.32  
032-0099 GAUGE PRESSURE XINLEI 1.5.019.025 $9.13  
033-0001 HUB CAP 1/2" $1.10  
033-0002 HUB CAP 5/8" $1.10  
033-0004 HUB CAP, GM212 $1.10  
033-0006 HUB CAP, VP0200406 BENIGN $1.10  
034-0025 SWITCH 69MC108387U $35.73  
034-0030 SW 69WB108583U $31.09  
034-0032 SW 69WB108425 $33.77  
034-0056 SWITCH, PRESSURE SC23 & SC46 $31.09  
034-0058 SWITCH 9013 GHG5-S101 $63.02  
034-0061 PRESSURE SWITCH $36.92  
034-0081 SW 69MC109082R $35.73  
034-0090 PRESS SWITCH 70/100PSI $39.52  



Powermate, Inc                                                                                             January 2008 

034-0091 SWITCH FURNAS 90-120 PSI $39.52  
034-0092 PRESSURE SWITCH $35.39  
034-0094 SWITCH-PRESSURE $35.39  
034-0096 PRESS SW-11GAL ECONO FL $36.57  
034-0097 SWITCH-PRESS, FURNACE $38.69  
034-0106 KIT-PRESSURE SWITCH $41.90  
034-0108 KIT-PRESS SW, FURNAS $39.59  
034-0120 PRESSURE SWITCH $33.05  
034-0122 PRESSURE SWITCH KIT ASSY $39.86  
034-0132 SWITCH - PRESSURE, 95 - 125, 1/4 MALE $32.27  
034-0133 SWI TCH - PRESSURE 90 - 120 $36.15  
034-0135 SWITCH - PRESSURE 95 - 125 $35.76  
034-0136 PRESSURE SWITCH 100 - 130 $34.35  
034-0138 PSI SWITCH, 100 - 130, 4 - PORT JF $37.70  
034-0140 PRESSURE SWITCH KIT 95 -125, 4 - PORT $48.39  
034-0142 SWITCH, ROCKER $3.17  
034-0143 SWITCH, PRESSURE $47.56  
034-0144 SWITCH-PRESSURE, GM212 $57.83  
034-0145 SWITCH-ON-OFF, INFLATOR $2.93  
034-0146 SWITCH-PRESSURE, INFLATOR $26.57  
034-0147 SWITCH, PRESS 145-175 W/O BLDR 4 PORT $39.49  
034-0148 SWITCH 95-125 W/UNLOADER $30.42  
034-0150 SWITCH PRESSURE 95-125 $33.44  
034-0152 SWITCH-PRESSURE 95-125 $37.90  
034-0153 SWITCH 95-125 W/O UNLOADER $27.70  
034-0154 PRESSURE SWITCH $34.48  
034-0164 PRESSURE SWITCH 155 PSI $33.89  
034-0165 SWITCH, 4-PORT 100-130 PSI, BLDR PORT $28.81  
034-0166 SWITCH, PRESSURE, 321075000, FINI $52.62  
034-0168 SWITCH-PRESSURE, 155 PSI $28.86  
034-0169 PRESSURE SWITCH VPPO200604 01204-10 $28.08  
034-0170 PRESSURE SWITCH VPP0301104 01205-07 $29.91  
034-0171 PRESSURE SWITCH $30.86  
034-0172 SWITCH, 125-155 PSI W/O UNLOADER $26.07  
034-0173 PRES SWITCH INFLMTE 9310B010 $18.72  
034-0174 POWER SWITCH, INFMTE 9310B013 $3.66  
034-0175 PRESSURE SWITCH 125-155 PSI LEFOO $25.71  
034-0176 SWITCH PRESSURE, XINLET 1.5.053.023 $26.61  
034-0177 SWITCH PRESSURE W/PLATE $28.22  
034-0184 SWITCH PRESSURE 125-155 CONDOR $29.77  
034-0187 SWITCH PRESSURE ALTON 125-155 PSI $26.07  
034-0192 SWITCH PRES. 125-155PSI W/B UNLOADER $33.03  
034-0204 1/4" NPT BTM CON 125-155 PSI $31.13  
034-0205 1/4" NPT BTM CON 145-175 PSI $31.13  
034-0208 SWITCH PRESSURE VPK0880803 $18.26  
034-0209 ON OFF SWITCH VPK0880803 $4.18  
034-0211 PRESSURE SWITCH ALTON K032-7132 $34.69  
034-0212 PRESSURE SWITCH 1.5.053.023 $23.91  
036-0002 KWIK CPLR 1/4" NPT $24.51  
036-0003 CPLNG 1/4 NPT $2.61  



Powermate, Inc                                                                                             January 2008 

036-0022 CPLING PIPE 1/2" $4.36  
036-0023 MALE COUPLER $29.32  
036-0029 COUPLER-BULKHEAD $7.77  
036-0031 COUPLER-QUICK CONNECT $8.22  
036-0039 COUPLER QUICK CONNECT $11.69  
036-0042 COUPLER QUICK CONNECT $11.39  
036-0044 QUICK COUPLER, GM212 $3.73  
036-0045 COUPLER QUICK .375W/MALE 1/4 NPT $21.73  
036-0051 COUPLER QK CONNECT UNI .125 IN MALE $9.12  
036-0055 GARDEN HOSE QK CONNECT INLET $24.04  
036-0080 COUPLER QK CONNECT VPK1581768 $6.38  
038-0002 AIR CHUCK FEM 1/4 NPT $5.02  
038-0017 CONNECTOR 1/4" NPT FEMALE BRASS $7.70  
039-0033 AEROSOL PNT GUN MET GRAY $26.18  
039-0034 AEROSOL PNT SANBORN RED $26.18  
039-0036 AEROSOL PNT JET BLACK $26.18  
039-0058 PAINT METALLIC SILVER AEROSOL CAN $21.88  
039-0066 PAINT RED 1/2 PINT CAN $20.22  
039-0067 PAINT BLACK 1/2 PINT CAN $12.67  
039-0068 PAINT MARSHALLTOWN BLUE 1/2 PINT CAN $19.61  
039-0069 PAINT, SILVER/GRAY 1/2 PINT CAN $17.50  
039-0070 MAKITA BLUE 1/2 PINT CAN $19.01  
039-0071 PAINT IAM GRAY 1/2 PINT CAN $17.50  
039-0100 PAINT IAM GRAY AEROSOL $26.18  
040-0152 PUMP, SC23 WITH FLYWHEEL $1,182.77  
040-0155 PUMP, SC46 WITH FLYWHEEL $2,024.15  
040-0205 PMP, B4900, LESS FLYWHL $542.67  
040-0208 PMP, B6000, LESS FLYWHL $958.45  
040-0209 PMP, B7000, LESS FLYWHL $1,682.90  
040-0210 PMP, B5900, LESS FLYWHL $638.66  
040-0211 PMP, SC23, LESS FLYWHL $1,120.06  
040-0212 PMP, SC46, LESS FLYWHL $1,900.95  
040-0221 PUMP, 130 WITH 10" FLYWHEEL $318.46  
040-0222 PUMP, 165 WITH 10" FLYWHEEL $296.69  
040-0242 PMP\MOT ASSY-ECONO F $245.58  
040-0244 PMP MOT ASSY - 1 HP "F" $320.75  
040-0269 PUMP/MOTOR KIT-MAC100O $322.80  
040-0274 PMP/MOTOR KIT-F SERIES $319.55  
040-0290 PUMP/MOTOR ASSY 1.5HP $326.03  
040-0292 PUMP ASSEMBLY B6000 CI $907.94  
040-0307 PMP/MTR SVC KIT - 5HP DD $262.97  
040-0308 PUMP / ENGINE ASSY GAS DIR DRV $599.41  
040-0309 PUMP ASSY, 130 SHORT BLOCK $214.41  
040-0311 PUMP ASSY, 165 SHORT BLOCK $211.95  
040-0317 PUMP ASSEMBLY, INFLATOR $112.28  
040-0323 PUMP/MOTOR ASSY, 6HP DD $286.24  
040-0324 PUMP ASSEMBLY, GM212 $158.25  
040-0326 PMP/MTR ASSY 6HP 123 $289.27  
040-0327 PMP/MTR ASSY 5HP 123 $378.99  
040-0328 PMP/MTR ASSY 2HP 123 $330.10  



Powermate, Inc                                                                                             January 2008 

040-0332 PMP/MOTOR ASSY 3 HP UMC $133.40  
040-0333 PUMP/MOTOR ASSY 6 HP UMC $138.53  
040-0334 PMP/MOTOR ASSY 2.5HP 123 $234.59  
040-0340 ASSY, PMP/ENG. GAS 123 $592.46  
040-0343 PMP/MTR ASSY PUMA $138.91  
040-0344 PUMP, 1-STAGE, 3 CYL CI LPW806 $244.90  
040-0345 PMP/MTR ASSY P0000201, ALTON $110.17  
040-0348 PUMP, 14CFM LESS FLYWHEEL $269.78  
040-0350 PUMP, 18CFM LESS FLYWHEEL $311.51  
040-0352 PUMP 753H $159.85  
040-0353 PUMP, LPW655, 14 CFM $206.52  
040-0354 PUMP 755H $159.85  
040-0356 PUMP, 753H W/FLYWHEEL $192.04  
040-0357 PUMP, 755H W/FLYWHEEL $192.04  
040-0360 PUMP/ASSY VP0200406 BENIGN $137.80  
040-0361 PMP/MTR ASY VPP0200604 01204.1 $227.11  
040-0362 PMP/MTR ASY VPP0301104 01205.1 $238.27  
040-0363 PUMP/MTR ASY 2.0" $136.10  
040-0365 PMP/MTR ASY INFMTE 9310A101 $109.89  
040-0366 PMP/MTR ASSY $130.20  
040-0368 PUMP/MOTOR ASSY DS II $99.69  
040-0371 PUMP/MOTOR ASSY 1.1RHP INVECTOR $136.44  
040-0372 PUMP/MOTOR ASSY 1.5RHP INVECTOR $137.37  
040-0377 PUMP/MOTOR ASSY 2.0 LOWES SVC $143.16  
040-0380 PUMP/MOTOR ASSY ALTON K012-3204 $97.51  
040-0383 PUMP/MOTOR ASSY SVC DSII 10 GAL $106.32  
040-0385 PUMP/MOTOR ASSY 1.5 RHP QUIET SERIES $137.22  
040-0386 V TWIN PUMP CAST IRON $213.11  
040-0392 PMP MTR ASY VPK1581768 $132.97  
040-0393 PUMP MOTOR ASY $159.85  
040-0394 PMP MTR ASY VPK0880803 $92.11  
040-0396 PM ASY VL1181504 KD32-3251 $136.72  
041-0003 MNFLD BLK MACH 041-0008 $29.22  
041-0031 MANIFOLD, MACH CSA $43.10  
041-0036 MANIFOLD DON MACHINE $20.45  
041-0045 MANIFOLD - MACH 041-0043 $18.00  

041-0047 
MANIFOLD -CONTRACTOR, #5 ZINC 
MACHINED $26.65  

041-0048 MANIFOLD BODY, INFLATOR $6.57  
041-0052 MANIFOLD, MACHINED UP100 $18.17  
041-0052 MANIFOLD MACHINED UP100 $13.63  
041-0057 MANIFOLD, LEFT DIGITAL $8.11  
041-0058 MANIFOLD, RIGHT DIGITAL $11.61  
041-0059 MANIFOLD, DIE CAST $18.51  
041-0086 MANIFOLD BLOCK VPK0880803 $25.34  
042-0043 HEAD - B5000 $223.88  
042-0044 HEAD - B6000 $155.18  
042-0055 HEAD - MODELS SC23, SC46 $135.38  
042-0056 HEAD - V-TWIN MODEL SC46 $79.41  
042-0068  -0067 MACH - 130, 165 $25.56  
042-0072 HEAD B4900 $98.59  



Powermate, Inc                                                                                             January 2008 

042-0074 HD VLV PLT ASY CAN 130 $36.71  
042-0086 HEAD, B5900 $104.68  
042-0089 COVER-ASSY, PUMP $8.60  
042-0103 HEAD 1/4" 130/165 $27.29  
042-0104 HEAD OILLESS CASTING $15.94  
042-0106 HEAD, GM212 $32.13  
042-0107 HEAD, PUMP, 116022002, FINI $10.33  
042-0108 HEAD ASY 755H L710014 $52.01  
042-0109 HEAD ASSY 753 $60.03  
042-0110 HEAD-CYLINDER, 755H $77.41  
042-0112 INLET COVER 753H $8.87  
042-0115 HEAD & VLV PLT ASY 753H $106.84  
042-0116 HEAD & VLV PLT ASY 755H $106.84  
042-0117 HEAD, 5/16" HOLE 14 CFM L727172 $35.71  
042-0118 HEAD, 5/16" HOLE 18CFM L710021 $27.78  
042-0121 CYLINDER HEAD 710025 $23.32  
042-0122 CYLINDER HEAD KELLOGG $97.94  
042-0123 HEAD VPK1581768 $8.58  
042-0124 HEAD VPK0880803 $11.00  
043-0094 INTK VLV SPCR SC23, SC46 $13.01  
043-0095 EXHAUST VLV SPCR SC23,46 $16.34  
043-0098 LO PRES INTK VLV ASY $26.35  
043-0099 HI PRES INTK VLV ASY $28.36  
043-0100 EXHAUST VLV ASY SC23, 46 $32.77  
043-0111 COMPL VLV PLT ASY B6000 $204.74  
043-0113 COMPL VLV PLT ASY B7000 $298.88  
043-0140 VLV PLT ASY B4900 $103.25  
043-0142 VLV PLT ASY 165 $21.87  
043-0161 VALVE PLATE ASSY B5900 $137.60  
043-0171 VALVE PLATE ASSY 123 $37.08  
043-0173 VALVE PLATE UP100 OILLESS MACHINED $26.87  
043-0177 VLV PLT ASSY PUMA $13.92  
043-0179 VALVE KIT, FINI $16.36  
043-0180 VALVE PLATE ASSY, 753/755H $53.95  
043-0185 VALVE PLT ASSY, VP0200406 BENIGN $32.97  
043-0192 VLV PLT ASY W/GASKETS VPP0200604 $11.40  
043-0193 VLV PLT ASY W/ GASKETS VPP0301104 $10.58  
043-0194 VALVE PLATE ASY L180007 14 CFM $37.06  
043-0195 VALVE PLT ASY W/GASKETS L180018 18 CFM $55.49  
043-0198 VALVE PLATE ASSY DS II $27.08  
043-0202 VLV PLATE ASSY XINLET 2.5.7.02.2.001 $8.06  
043-0207 VLV PLT ASY W/GSKTS 010118 $59.18  
043-0209 L.P. INLET VALVE KELLOGG $33.14  
043-0210 L.P. DISCHARGE VALVE KELLOGG $31.18  
043-0211 H.P. INLET VALVE KELLOGG $31.18  
043-0212 H.P. DISCHARGE VALVE KELLOGG $31.17  
043-0215 VLV PLT ASY VPK1581768 $11.51  
043-0216 VLV PLT ASY VPK0880803 $10.19  
044-0025 FWHL B5000,B6000,B7000 17" $62.39  
044-0026 FWHL 10"A-G MACH, BAL130 $38.23  



Powermate, Inc                                                                                             January 2008 

044-0027 FWHL 10"B-G MACH BAL 165 $30.98  
044-0037 FWHL 16.88 OD SC23 $97.84  
044-0039 FWHL 12"A-W MACH, BAL $52.12  
044-0040  FWHL 12"B-W TPR BORE $52.30  
044-0051 FWHL 19" 2-G FOR SC46 $61.16  
044-0052 FLYWHEEL B4900 14.5" $62.52  
044-0059 FLYWHEEL B4900 14.5 DIA $62.52  
044-0060 FLYWHEEL 13.77 OD (B4900) $62.52  
044-0063 FLYWHEEL 12" DIA  $60.25  
044-0063 FLYWHEEL 12" MACHINED $60.25  
044-0064 FLYWHEEL, 12" A GROOVE $22.79  
044-0065 FLYWHEEL, 16", 18 CFM $30.93  
044-0066 FLYWHEEL, 12" A 14 CFM $22.79  
045-0043 BRG CAR MACH PER -0037 $14.96  
045-0044 BRG CAR FRNT - SC23,SC46 $17.24  
045-0053 BRG CARRIER 130/165 $28.98  
045-0054 BEARING CARRIER 701026 $16.94  
045-0055 END COVER KELLOGG $20.65  
046-0130 HD GSKT B5000/B5900 $9.48  
046-0131 AFTCLR GSKT B5,6,7000 $9.73  
046-0134 KT-B5000 $11.54  
046-0135 BRG CVR GSKT B5000,B6000 $5.02  
046-0136 CRNKCS BASE GSKT - B5000 $30.59  
046-0137 OIL SEAL - B5000 $8.82  
046-0139 HEAD GASKET - B6000 $14.98  
046-0140 CYL GSKT - B6000 $13.92  
046-0141 CRNKCS GSKT - B6000 $22.14  
046-0142 CRNKCS BASE GSKT - B6000 $26.73  
046-0143 FRNT BRG CVR GSKT B6000 $4.02  
046-0145 OIL SEAL - B6000 $11.76  
046-0149 BRG CAR GSKT 130,165 SMC $1.10  
046-0150 CRNKCS BASE GSKT 130,165 $8.82  
046-0151 HEAD GSKT - 130, 165 SMC $2.86  
046-0152 GASKET-CYLINDER, 130/165 $2.76  
046-0159 GASKET SET 130, 165 $14.53  
046-0161 OIL SEAL FOR 130,165 SMC $2.31  
046-0166 HEAD GSKT - SC23, SC46 $7.58  
046-0167 CYL GSKT - SC23, SC46 $4.92  
046-0168 BRG CAR GSKT - SC23,SC46 $7.54  
046-0169 SIDE CVR GSKT - SC23 $5.05  
046-0170 INSPECTION PLT GSKT SC46 $4.35  
046-0171 UNLDR CVR GSKT SC23,SC46 $5.50  
046-0172 AFTCLR GSKT - SC23, SC46 $2.48  
046-0173 INTCLR GSKT - SC23, SC46 $2.59  
046-0174 VLV CVR GSKT - SC23,SC46 $1.10  
046-0175 GSKT SHIM .005 SC23,SC46 $1.70  
046-0176 GSKT SHIM .010 SC23,SC46 $1.70  
046-0177 GSKT SHIM .015 SC23,SC46 $1.70  
046-0178 OIL HOLE GSKT SC23, SC46 $3.48  
046-0179 OIL SEAL - SC23, SC46 $20.17  



Powermate, Inc                                                                                             January 2008 

046-0183 GSKT SET COMPLETE - SC23 $39.45  
046-0184 VLV GSKT SET - SC23 $7.49  
046-0185 GSKT SET COMPLETE - SC46 $64.24  
046-0186 VLV GSKT SET - SC46 $14.99  
046-0188 COMPL GSKT SET - B6000 $35.95  
046-0189 COMPL GSKT SET - B7000 $69.61  
046-0190 BRG CVR GSKT - B7000 $7.23  
046-0191 OIL SEAL - B7000 $14.22  
046-0192 CRNKCS BASE GSKT B7000 $63.81  
046-0193 CRNKCS GSKT - B7000 $19.06  
046-0194 CYL GSKT - B7000 $7.67  
046-0195 BRG CVR GSKT (FWHL)B7000 $7.48  
046-0197 ER GSKT B7000 $9.30  
046-0199 INTC GSKT - B5000, B6000 $9.42  
046-0210 VLV PLT GSKT B4900 $7.87  
046-0211 GASKET SET B4900 $47.56  
046-0212 CRNKCS BASE GSKT B4900 $15.93  
046-0213 CYL GSKT B4900 $10.91  
046-0214 HD GASKET B4900 $6.75  
046-0215 VLV PLT GSKT TOP B4900 $9.94  
046-0216 BRG COVER GSKT B4900 $2.12  
046-0217 OIL SEAL B4900 $6.03  
046-0219 INTCLR GSKT B4900 $2.48  
046-0227 UNLDR ADAPTER PLT GSKT $4.26  
046-0230 GASKET REGULATOR VLV ST $1.10  
046-0231 INTAKE SEAL $1.84  
046-0234 O-RING SEAL KIT $5.14  
046-0244 KIT GASKET REPAIR $74.17  
046-0245 GASKET INTERCOOLER $6.12  
046-0246 GASKET, BASE B5900 $25.38  
046-0247 GASKET, CRANKCASE B5900 $21.31  
046-0248 GASKET, CYL B5900 $13.69  
046-0254 O-RING ABAC BRTHR $1.10  
046-0255 WSHR ABAC SIGHT GLS $6.03  
046-0256 GSKT, VLV PLT, MIDDLE $9.95  
046-0257 B5900 $7.58  
046-0258 GASKET, HEAD $9.78  
046-0263 GASKET OIL PAN 130/165 $6.70  
046-0271 GASKET, AFTERCOOLER, B4900 $4.35  
046-0274 GASKET SET, GM212 $24.78  
046-0275 GASKET, CRANKCASE, GM212 $3.39  
046-0276 SEAL PISTON YELLO AS MOLDED $3.35  
046-0278 GASKET KIT, 216093003 FINI $5.49  
046-0279 GASKET SET 753/755H $17.26  
046-0280 REAR COVER GASKET 753/755H $3.66  
046-0281 CRANKCASE GASKET 753/755H $7.33  
046-0282 VALVE-CYL GASKET 753/755H $7.33  
046-0283 CYLINDER HEAD GASKET 753/755H $9.77  
046-0284 DRIVE END CAP GASKET 753/755H $5.49  
046-0285 OIL SEAL, 753/755H $6.11  



Powermate, Inc                                                                                             January 2008 

046-0286 GASKET, HD-VP 14 CFM L070280 $6.35  
046-0287 GASKET, VP-CYL 14 CFM L070262 $6.35  
046-0288 GASKET CYL/CRNKCS 14 CFM L070181 $6.35  
046-0289 GASKET, REAR 14 CFM L070195 $3.17  
046-0290 OIL SEAL, 14 CFM L060079 $6.35  
046-0291 GASKET, DRIVE END 14 CFM L070228 $6.35  
046-0292 GASKET SET, L180008 14 CFM $36.51  
046-0293 HD GASKET - VLV PLT 18CFM L070379 $7.41  
046-0294 VLV PLT - CYL GASKET 18CFM L070378 $7.41  
046-0295 CYL - CRNKCSE GASKET 18CFM L070377 $7.41  
046-0296 REAR END GASKET 18CFM L070376 $3.17  
046-0297 DRIVE END GASKET 18CFM L070375 $7.94  
046-0298 OIL SEAL 18CFM L060184 $6.35  
046-0299 GASKET SET, L180019 18 CFM $58.73  
046-0302 HEAD GASKET 070393 $8.03  
046-0303 CYL GASKET 070392 $8.03  
046-0304 CRANKCASE GASKET 070391 $8.03  
046-0305 FRONT COVER GASKET 070394 $8.03  
046-0306 OIL SEAL 060187 $9.57  
046-0307 GASKET SET 010021 $31.74  
046-0310 COPPER L.P. GASKET KELLOGG $1.34  
046-0311 COPPER H.P. GASKET KELLOGG $1.35  
046-0312 CYLINDER HEAD GASKET KELLOGG $7.39  
046-0313 CYLINDER GASKET $7.39  
046-0314 END COVER GASKET SET KELLOGG $15.43  
046-0315 AIR BREATHER GASKET KELLOGG $0.12  
046-0316 OIL SEAL KELLOGG $15.51  
046-0317 GASKET SET KELLOGG $33.85  
047-0039 CON ROD - B5000/B5900 $59.96  
047-0041 CON ROD - B6000 $108.29  
047-0054 CON ROD MODELS SC23,SC46 $99.59  
047-0064 CON ROD ASY B4900 $44.83  
047-0069 CON ROD MACHINED 130 $15.85  
047-0070 CON ROD MACHINED 165 $15.85  
047-0083 CON ROD, GM212 $23.40  
047-0084 ROD, CONNECTING (CAST IRON) SC23/46 $86.63  
047-0086 CON-ROD ASSY 755H $58.61  
047-0087 CON-ROD ASSY 753H $58.61  
047-0091 ROD, CONNECTING 130 PUMP $13.40  
047-0092 ROD, CONNECTING 165 PUMP $13.40  
047-0094 CON-ROD MIDDLE L180009 14 CFM $27.84  
047-0095 CON-ROD OUTER L180010 14 CFM $27.84  
047-0096 CON ROD MIDDLE 18CFM L705209 $31.34  
047-0097 CON ROD OUTER 18CFM L705210 $31.34  
047-0099 CON ROD 705216 $22.29  
047-0100 CONNECTING ROD KELLOGG $46.22  
047-0101 CON ROD PSTN ASY VPK0880803 $27.43  
048-0054 PSTN 4-1/8 L.P. SC23,46 $63.75  
048-0056 PISTON LO PRESS - B7000 $202.78  
048-0057 PISTON HI PRESS - B7000 $117.58  



Powermate, Inc                                                                                             January 2008 

048-0061 PSTN 2 3/4" DIA MACH $14.94  
048-0063 PSTN ASY HIGH PRES B4900 $82.34  
048-0064 PSTN ASY LOW PRES B4900 $120.02  
048-0065 PISTON ASY 2 3/4 130/165 $29.75  
048-0074 PISTON/CYLNDER KIT $33.89  
048-0081 PISTON-55MM HP, SC23/46 $42.87  
048-0101 PISTON, GM212 $41.65  
048-0105 PISTON/CYLINDER KIT 123 $50.85  
048-0106 PSTN/SLV ASSY PUMA $100.49  
048-0108 PISTON ASSY FOR FINI $29.30  
048-0114 PISTON/CYL KIT 123 PUMP $36.56  
048-0115 PISTON/SLV ASSY, VP0200406 BENIGN $44.57  
048-0116 PISTON ASY 753H PMP $30.93  
048-0117 PISTON ASY, L180011 14 CFM $23.36  
048-0118 PISTON ASY L180020 18 CFM $29.91  
048-0120 PISTON/CYLINDER KIT HC125A $31.65  
048-0121 PSTN ASY W/WRST PNS/CLPS 010119  $25.23  
048-0122 PISTON H.P. KELLOGG $36.31  
048-0123 PISTON L.P. KELLOGG $74.94  
048-0124 PSTN/CYL KIT VPK1581768 $35.79  
049-0021 CRNKCS - B5000 $175.92  
049-0022 CRNKCS - B6000 $336.50  
049-0027 CRNKCS FOR MODEL SC23 $76.00  
049-0028 CRNKCS FOR MODEL SC46 $115.71  
049-0032 CRANKCASE - B7000 $340.99  
049-0036 CRANKCASE B4900 $132.83  
049-0038 CRANKCASE $200.42  
049-0045 CRANKCASE, MACH 130/165 $102.27  
049-0046 CRANKCASE COVER, GM212 $30.98  
049-0048 CRANKCASE 753/755H $52.08  
049-0050 CRANKCASE ASSY, 130/165 $101.66  
049-0051 CRANKCASE 14 CFM L708054 $84.13  
049-0052 CRANKCASE 18CFM L708055 $111.75  
050-0025 CYL - B5000 $305.33  
050-0026 CYL - B6000 $604.98  
050-0030 CYL FOR MODELS SC23,SC46 $201.24  
050-0036 CYLINDER B4900 $229.73  
050-0040 CYLINDER $436.19  
050-0055 CYLINDER, GM212 $95.69  
050-0060 CYLINDER, 116093009, FINI $22.22  
050-0061 CYLINDER 753/755H $45.24  
050-0062 CYLINDER 14 CFM L711070 $25.40  
050-0063 CYLINDER W/GASKETS L180022 18 CFM $47.68  
050-0065 CYLINDER  $21.05  
050-0066 CYLINDER KELLOGG $123.60  
050-0067 CYLINDER VPK1581768 $15.77  
050-0068 CYLINDER VPK0880803 $15.69  
051-0013 OPEN BRG 64 130 165 $8.97  
051-0039 CRNKSHFT BRG B5000,B6000 $37.43  
051-0040 CRNKSHFT BRG - B6000 $24.88  



Powermate, Inc                                                                                             January 2008 

051-0041 CON ROD BRG - B5000/B5900 $10.26  
051-0042 CON ROD BRG - B6000 $23.38  
051-0043 BEARING (FLYWHEEL END) $9.87  
051-0053 BRG CONE (FWHL) SC23,46 $37.74  
051-0054 BRG CONE OUT END SC23,46 $32.97  
051-0055 ROD INSERT - SC23, SC46 $14.62  
051-0060 CRNKSHFT BRG - B7000 $47.36  
051-0061 CON ROD BRG INSERT B7000 $25.11  
051-0063 CRNKSHFT BRG (FWHL)B7000 $59.38  
051-0066 BRG INSERT (ROD) B4900 $16.08  
051-0067 CRNKSHFT BRG B4900 $17.34  
051-0081 BEARING-TEFLON SLEEVE $4.13  
051-0086 BEARING, BALL (6203) $7.40  
051-0087 BUSHING, HOSE REEL AXLE $8.60  
051-0098 INSERT BEARING 753/755H $23.12  
051-0099 BALL BEARING 205 753/755H $13.84  
051-0100 BALL BEARING 206 753/755H $18.32  
051-0101 BALL BEARING, 304 18CFM L050166 $22.22  
051-0102 BALL BEARING, 307 18CFM L050140 $25.40  
051-0103 BALL BEARING 204  050162 $13.57  
051-0104 BALL BEARING 205  050155 $31.09  
051-0105 INSERT BEARING KELLOGG $15.40  
051-0106 BEARING 720E KELLOGG $34.33  
051-0107 BEARING 620RS VPK1581768 $9.68  
052-0020 WRST PIN (LO PRES) B5000 $20.84  
052-0021 WRST PIN (HI PRES) B5000 $12.58  
052-0022 WRST PIN (LO PRES) B6000 $14.66  
052-0023 WRST PIN (HI PRES) B6000 $11.54  
052-0024 WRST PIN - 130, 165 SMC $3.35  
052-0027 WRST PIN L.P. - SC23,46 $17.94  
052-0028 WRST PIN H.P.ASY SC23,46 $21.44  
052-0031 WRST PIN LO PRESS B7000 $37.04  
052-0032 WRST PIN HI PRESS B7000 $24.43  
052-0036 WRIST PIN, GM212 $12.85  
052-0040 H.P. WRIST PIN KELLOGG $9.02  
052-0041 L.P. WRIST PIN KELLOGG $10.59  
053-0038 CRNKSHFT - B5000 $279.51  
053-0039 CRNKSHFT - B6000 $328.97  
053-0041 CRNKSHFT MACH 130 PMP $58.73  
053-0043 CRNKSHFT MACH - 165 SMC $61.35  
053-0051 CRNKSHFT FOR MODEL SC23 $123.57  
053-0052 CRNKSHFT FOR MODEL SC46 $225.09  
053-0054 CRANKSHAFT - B7000 $480.20  
053-0056 CRANKSHAFT B4900 $218.30  
053-0064 CRANKSHAFT $277.20  
053-0084 CRANKSHAFT ECCENTRIC, 1.34 STROKE $18.69  
053-0086 CRANKSHAFT, ECCENTRIC 1.14 STROKE $19.46  
053-0098 CRANK, 1.34 STROKE KIT $29.33  
053-0099 CRANK, 1.14 STROKE KIT $30.03  
053-0100 CRANKSHAFT, 755H $78.14  



Powermate, Inc                                                                                             January 2008 

053-0101 CRANKSHAFT $50.79  
053-0105 CRANKSHAFT 30MM 14 CFM L709225 $56.35  
053-0106 CRANKSHAFT $81.75  
053-0107 CRANKSHAFT 709225 $56.38  
053-0108 CRANKSHAFT KELLOGG $112.63  
054-0007 O-RNG 1" OD D-O-M MNFLD $1.10  
054-0040 O-RNG FOR MNFLD GUIDE $1.10  
054-0097 RETAINING RING - B5000 $1.10  
054-0105 RETAINING RING - B6000 $1.10  
054-0110 RET RING $1.10  
054-0112 RING SET 130, 165 $15.57  
054-0119 WRST PIN RET RNG SC23,46 $1.10  
054-0128 RNG SET LO PRESS - B5000 $49.13  
054-0129 RNG SET HI PRESS - B5000 $39.94  
054-0130 RNG SET LO PRESS - B6000 $80.67  
054-0131 RNG SET HI PRESS - B6000 $56.86  
054-0132 RNG SET LO PRESS - B7000 $63.52  
054-0133 RNG SET HI PRESS - B7000 $86.50  
054-0134 WRST PIN RET RNG - B7000 $1.10  
054-0146 RNG SET HI PRES B4900 $32.60  
054-0147 RNG SET LOW PRES B4900 $34.42  
054-0148 RETAINING RING B1400 $1.10  
054-0157 O-RING, 3.987 ID $2.19  
054-0158 O-RING, 3.489 ID $1.11  
054-0173 RING OIL 055 BEV EDGE $8.01  
054-0178 RING SET,55 DIA HP $26.30  
054-0179 RING SET,105 DIA LP $18.49  
054-0208 O-RING, HEAD GASKET $3.84  
054-0209 O-RING CYLINDER 2.5 OD $2.14  
054-0209 O-RING CYLINDER VPK1581768 $1.32  
054-0217 RING SET-LOW PRESS B5900 $32.66  
054-0225 O-RING, .070 SQ $1.10  
054-0226 O-RING, HEAD FORMED, SQUARE $2.27  
054-0227 O-RING-AS-568A-020,BUNA N $1.10  
054-0228 RING SET, GM212 $46.11  
054-0229 RING WRST PIN RETNING GM212 $3.39  
054-0230 DOUBLE SNAP BUTTON $3.39  
054-0235 RING SET 753/755H $45.18  
054-0240 RING 11/16 CONNECTING SIZE L718077 $3.17  
054-0241 RING SET L180013 14 CFM $25.72  
054-0242 STOP RING 30MM, L130073 18CFM $1.34  
054-0243 RING, 1-18UNS 18CFM L718078 $3.17  
054-0244 RING SET L180021 18 CFM $26.19  
054-0245 O-RING, PCB, ID 1/2 X OD 5/8 X 1/16 $1.10  
054-0246 O-RING 1/4" X OD 3/8" $1.10  
054-0248 O-RING SOLENOID, DS II $1.10  
054-0250 RING SET (3 RINGS) 719061 $19.14  
054-0252 H.P. VLV COVER O-RING KELLOGG $4.28  
054-0253 L.P. VLV COVER O-RING KELLOGG $8.65  
054-0255 L.P. RING SET KELLOGG $27.67  



Powermate, Inc                                                                                             January 2008 

054-0256 WRIST PIN RETAINING RING KELLOGG $1.12  
054-0257 H.P. RING SET KELLOGG $23.58  
054-0258 O-RING HEAD VPK1581768 $2.53  
055-0003 AIR THRTL SPRNG 5HP GAS $1.73  
055-0005 D-O-M REG SPRNG $1.10  
055-0011 AIR THRTL SPRNG 8,11 GAS $18.54  
055-0047 BRTHR SPRING 130, 165 $1.10  
055-0051 UNLDR SPRNG - SC23, SC46 $3.51  
055-0057 SPRING LONG REGULATOR $2.15  
055-0059 COMPRES'N CHK VLV SPRING $1.10  
055-0074 SPRING - CHECK VALVE, CONICAL $1.10  
055-0076 SPRING, THRTL CTRL, DUAL PWR $1.76  
055-0078 SPRING PLUNGER $1.10  
055-0081 GAUGE SPRING DIGITAL $1.10  
056-0014 OIL SPLASH ROD B5,6000 $3.49  
056-0018 BRTHR ASY - SC23, SC46 $7.58  
056-0019 DPSTK NYLON FOR 130, 165 $1.10  
056-0022 BRTHR/OIL FILLER B7000 $26.26  
056-0023 OIL SPLASH ROD - B7000 $4.99  
056-0029 OIL CAP & BRTHR B4900 - B6000 $16.08  
056-0053 DIPSTICK ASSEMBLY, COMBO $64.53  
056-0054 DIPSTICK, GM212 $7.57  
056-0055 SPARK ARRESTER, 11 HP HONDA $56.66  
056-0056 BREATHER, CRANKCASE SC23/46 $11.56  
056-0063 DIPPER, OIL CON ROD SC23/46 $1.10  
056-0064 DIPSTICK, OIL 012043000, FINI $1.22  
056-0065 BREATHER, 753/755H L703007 $6.47  
056-0066 OIL FILL PLUG, VPP0200604 01204-05 $4.40  
056-0067 OIL FILL PLUG, VPP0301104 $1.83  
056-0068 OIL DIPPER STRAIGHT L180014 18 CFM $2.44  
056-0069 OIL DIPPER BENT L180015 $2.44  
056-0070 OIL FILLER PLUG 14 CFM L140043 $4.15  
056-0071 BREATHER, EXTENDED 14 CFM L703003 $6.92  
056-0072 BREATHER, EXTENDED 18CFM L703004 $6.92  
056-0073 BREATHER/CAP ASSY, LG 753H/755H $17.01  
056-0074 BREATHER, SMALL 753/755H $6.47  
056-0078 OIL FILL PLUG 140037 $2.09  
056-0079 BREATHER EXTENDED 703004 $6.82  
056-0080 BREATHER KELLOGG $4.90  
058-0007 COMP NUT & SLEEVE 3/8 $1.92  
058-0009 HEAVEY 3/8" HEX NUT $1.10  
058-0012 COMP NUT & SLEEVE 3/4 $9.43  
058-0016 COMP NUT & SLEEVE 1/2 $3.37  
058-0017 COMP NUT & SLEEVE 1/4 $1.58  
058-0026 HX NUT PLTD ZNC 1/4 NF $1.10  
058-0032 HX NUT 1/4 NC $1.10  
058-0037 HX NUT BLK OXIDE 3/8 NC $1.10  
058-0072 M8 SLF-LOC NUT B5,6,7000 $1.17  
058-0082 RET NUT L.P.INTK SC23,46 $6.45  
058-0083 RET NUT H.P.INTK SC23,46 $5.46  



Powermate, Inc                                                                                             January 2008 

058-0084 CND NUT 1/8"SPT SC23,46 $2.51  
058-0086 HX HD NUT M16 - SC23,46 $1.23  
058-0087 CONDUIT NUT 1" SC23,SC46 $2.84  
058-0090 CON ROD NUT M10 - B7000 $2.27  
058-0122 WIZ LOCK #10-24 $1.10  
058-0123 NUT $5.02  
058-0127 #10-32 NYLON INSERT STOP NUT $1.10  
058-0128 NUT-1/4-20,NYLON STOP NUT #0040832 $1.10  
058-0129 NUT-5/16-18,NYLON STOP NUT #0048736 $1.10  
058-0133 NUT, #10-32, SQUARE $1.10  
058-0134 NUT, M10. GM212 $3.39  
058-0135 NUT-BLOCKING, GM212 $3.39  
058-0136 NUT, GM212 $3.39  
058-0137 NUT, PLASTIC REGULATOR $3.18  
058-0165 AIRFLOW NUT M25 X 2 L120082 $4.15  
058-0166 LOCKNUT 11/16 UNC L120070 $5.62  
058-0167 LOCKNUT, 1-18UNS 18CFM L120071 $6.35  
058-0168 AIRFLOW NUT, G3/4 18CFM L120083 $4.76  
058-0170 NUT 1/2"-20 SQ $2.13  
058-0171 NUT, MANIFOLD $8.93  
058-0504 3/4 -10 UNC HEX NUT $1.27  
059-0007 MNFLD INT ADJ BOLT $2.17  
059-0016 3/8 NC CAR BOLT  X  5 PF $1.28  
059-0035 SOCKET HD M8 X 20MM $3.80  
059-0098 M10 HHCS X 20MM CO $4.47  
059-0126 M10 X 50MM SHCS B5,6000 $4.05  
059-0130 M8 X 20MM SHCS B5,6,7000 $1.10  
059-0134 M10 X 25MM SHCS B5,6000 $5.29  
059-0135 M6 X 15MM SHCS B5,6000 $1.49  
059-0136 M6 X14MM SFHCS B5,6,7000 $3.03  
059-0137 M10 X16MM SHCS B5,6,7000 $4.81  
059-0138 M10 X35MM LH HHCS B5,6,7 $1.88  
059-0139 CON ROD BOLT B5000,B6000 $1.72  
059-0148 3/8 NC CAR BOLT X6 - IND $1.10  
059-0149 5/16-24 HHWLB X 1/2 L ZP $1.22  
059-0153 M8X30MM HHCS GR 10.9 $7.71  
059-0154 M10 X 45MM HSHCS $5.24  
059-0156 M6 X 20MM HSHCS $1.10  
059-0157 M8 X 85MM HWHCS GR 8.8 $2.95  
059-0158 HEX SOCKET CAP SCREW $1.10  
059-0159 M10 X 25MM HHCS GR 10.9 $1.40  
059-0163 HEX HD M16 X 80MM LG $2.04  
059-0164 3/8-16 X3/4 HWHS TAPTITE $1.10  
059-0166 M8 X 20MM HHCS - SC23 $2.84  
059-0167  M12 X 70MM HHCS - SC23 $1.93  
059-0171 M8 X 14MM BRG CVR BOLT $3.03  
059-0191 BOLT M8 X 30MM LH THRD $1.71  
059-0194 BOLT M8 X 45MM HX SOC HD $1.87  
059-0195 BOLT M6 X 14MM HX SOC HD $1.10  
059-0216 SCR-1/4-20 X .50 TF $1.10  



Powermate, Inc                                                                                             January 2008 

059-0221 BOLT, SHOULDER $1.10  
059-0229 BOLT M6 X 15MM $1.45  
059-0230 BOLT M10 X 40MM $1.90  
059-0231 BOLT M10 X 55MM $5.67  
059-0232 BOLT M8 X 18MM $1.82  
059-0245 SCR 3/8X1.5 SELF TAP $2.03  
059-0247 SCREW GROUND #10 $1.10  
059-0251 SCR-CAP, SKT HD M8X16MM $1.10  
059-0255 SCR-5/16-18 X .50 HFH $1.10  
059-0258 SCR-5/16-18 X 1.25 HFH $1.10  
059-0284 SCR-5/16-18 X 1/2 BK OXD $1.10  
059-0286 SCR-1/4-20 X 1/2 TF, BK $1.10  
059-0287 SCREW #10-24 HEX HEAD $1.10  
059-0296 SCREW, SOCKET HEAD CAP M8 X 1.25 X 25 $1.83  
059-0302 SCREW, M10 X 65, GM212 $6.88  
059-0303 SCREW, M6 X 35, GM212 $3.39  
059-0304 BOLT, STUD, GM212 $3.39  
059-0305 SCRW, M6 X 15 TAPTITE GM212 $3.39  
059-0306 BOLT, 5/16" - 1.75 LG HHCS $3.75  
059-0312 SCREW, 5/16" - 18 X 1.00" HHCS $1.10  
059-0313 BOLT SHOULDER 1/4" - 28 UMC $1.10  
059-0314 SCREW LONG 1/4 X 1 HEX HEAD $1.10  
059-0315 SCREW LONG 1/4 X 1 3/4 HEX HEAD $1.10  
059-0316 BOLT, 1/4" X 5/8" $1.10  
059-0369 BOLT 5/16" X 18 X 4.0" $1.39  
059-0371 SHOULDER BOLT 1/4-28 X 1.3 $1.10  
059-0371 BOLT-SHOULDER 1/4-28 X 1.30 BLK OXD $1.10  
059-1014 3/8NC CAR BOLT X2 1/2 ZP $1.10  
059-1016 3/4-10 UNC HEX BOLT $7.79  
059-1023 BOLT-MOT, #10-32 X 7.75 LONG $1.10  
060-0007 FLAT WASHER 1/2  PF $1.10  
060-0027 LOCK WASH 3/8 SHAKEPROOF $1.10  
060-0051 M10 WSHR - B5000,B6000 $1.41  
060-0052 WASHER-FLAT, M10 38MM OD $2.32  
060-0053 WSHR-FLAT, .344D X 1.125 $1.10  
060-0059 WSHR 1 -.5 CONDUIT RDCNG $1.10  
060-0061 FLAT WSHR.032THK SC23,46 $1.10  
060-0062 FLAT WSHR.017THK SC23,46 $1.34  
060-0063 FLAT WSHR.065THK SC23,46 $1.10  
060-0069 LOCK WASHER 16MM $1.10  
060-0070 LOCK WASHER 8MM 8.4 ID $1.10  
060-0072 SHEAVE 6.25"OD A-W 2-G $1.10  
060-0079 WSHR 8.5MMIDX30MMODX5MM $1.61  
060-0080 WSHR 10MMIDX17MMODX8MM $6.01  
060-0083 WSHR LOCK INT TOOTH M8 $1.10  
060-0115 WASHWE STEEL ZINC PLTD $1.10  
060-0144 WASHER 1/4" HARDENED $1.10  
060-0147 SPRING WASHER BRAKE $5.57  
060-0150 LOCK WASHER, 5/16" $1.10  
060-0152 PUSH RETAINER 1/4 $1.53  



Powermate, Inc                                                                                             January 2008 

060-0153 WASHER, 1/4" STAR $1.10  
060-0167 SPACER .38ID X 1.00 OD $1.80  
060-0183 FLYWHEEL WASHER L130077 14 CFM $1.22  
060-0184 CON ROD WASHER 30MM, L130071 18CFM $3.66  
060-0185 FLYWHEEL WASHER 18CFM L130084 $1.22  
060-0186 WASHER 3/4" X 5/16" X .2 $1.10  
060-0195 BREATHER WASHER 130072 $1.32  
060-1001 1/4 TO 1/2 REDUCCV WSHER $2.51  
061-0005 #10 SHWH TAP SCRU X 3/4" $1.10  
061-0036 #14 HX WSHR HD SCREW X 1 $1.10  
061-0040 SCREW FOR 081-0014 $1.10  
061-0044 SELF TAP 4.8MMX6MM LG $1.41  
061-0051 SCR HX WASH HD #8-32X.28 $1.10  
061-0060 SCREW 8 X 3/4 SELF TAP $1.10  
061-0062 SCR-1/4 X 1.25 SELF TAP $1.10  
061-0063 SCR 6-32 X 3/8 3HP DD $1.10  
061-0077 SCREW, #10-24 X .75 SHCS $1.10  
061-0082 SCREW, #8-32 X 3/8 TORX $1.10  
061-0082 SCREW #8-32 X 3/8" $1.10  
061-0087 SCR-5/16-18X.75 HEX SOC $1.10  
061-0092 SCR-5/16-18 X 1.5 TRH $1.10  
061-0105 SCR-#10 X 1/2 TPG BK OXD $1.10  
061-0108 SCREW #8-32 X 7/16 $1.10  
061-0110 SCREW-HEX HEAD #10-32X3/ $1.10  
061-0112 OIL PLUG SCREW $1.10  
061-0113 SCREW 10 - 24 X 1/2 HWH TAPTITE $1.10  
061-0114 PLASTITE SCREW #10-14 $1.10  
061-0121 SCREW #10-32 X 15/16 TAPTITE $1.10  
061-0133 SCREW-#10-32 X 7.8 HEX SOCKET HD $1.10  
061-0134 SCREW-1/4-20 X 3/4 HEX WASHER HD $1.10  
061-0135 SCREW-1/4-20 X 1 1/2 HEX WASHER HD $1.10  
061-0136 SCREW-1/4-20 X 2 1/2 BUTTON HD TORX $1.10  
061-0137 SCREW-#6-32 X 1/4 HEX WASHER HD $1.10  
061-0139 SCREW-#10-32X21/2", HEX WASHER HD $1.10  
061-0143 SCREW-SEM#10 X .75 SHW HEAD $1.10  
061-0145 SCREW-#8-32 X 7/16 PAN HD TORX $1.10  
061-0146 SCREW, 3.9 X 19, GM212 $3.39  
061-0149 SCREW, 39 X 16 "B", GM212 $3.39  
061-0150 SCREW, PLASTITE 4-20 X 1/2 HEX DRIVE $1.10  
061-0152 SCR PLASTITE 10-14 X 1"LG TORXT25 $1.43  
061-0153 SCREW 1/4 X 20 X 1/2 HEX $1.10  
061-0154 SCREW #8 X 1/2 WORKBENCH $1.10  
061-0158 SCREW HEX HEAD 1/4 20 X 2 1/4 $1.10  
061-0159 SCREW HEX WASHER 1/4 20 X 2 3/8 $1.10  
061-0160 SCREW PLASTITE $1.10  
061-0160 SCREW PLASTITE 2" LG $1.10  
061-0162 SCREW 1/4 X 20 X 2 1/4 TRILOBE $1.10  
061-0163 SCREW 1/4-20 X 2 1/2 TRILOBE $1.10  
061-0179 SCREW PLASTTIE #4-20 $1.10  
061-0185 SCREW 1/4 - 20 X 3 1/8" HWH $1.10  



Powermate, Inc                                                                                             January 2008 

061-0186 SCREW, 1/4"-20X2-3/4" HWH $1.10  
061-0203 SCREW #10 16 X .5" L-R $1.10  
061-0205 SCREW 1/2"-13 X 1.7 $3.72  
061-0206 SCREW, #10 - 32 X 1/2 $1.10  
061-0207 SCREW, #6-32 X 3/8" $1.10  
062-0035 HEX SOC PPG 1/4" VIBSLD $1.10  
062-0048 WRIST PIN PLUG 2 3/4 PTN $1.10  
062-0058 PLUG, COMPRESSION 1/4" TUBE $4.24  
062-0059 PLUG, GM212 $5.50  
062-0061 PIPE CAP 1/8" NPT $1.67  
062-0066 OIL DRAIN PLUG 140047 $2.20  
062-0068 CONNECTOR G 3/8 VPK0880803 $5.50  
062-0069 CONNECTOR 3-WAY VPK0880803 $11.00  
063-0009 BUSHING 1 X 1/2 $7.93  
063-0014 BUSHING 1 1/4 X 3/4 $6.79  
063-0017 BUSHING 2 X 1/4 $8.05  
063-0019 BUSHING 1 X 1/4 $6.05  
063-0026 BUSHING 3/8 X 1/4 $1.52  
063-0032 EXTNSION 1/2MNPT-1/2FNPT $14.75  
063-0040 BUSHING 2" X 3/8"NPT $7.28  
064-0001 ELBOW 90D BRASS 269CA6-4 $6.40  
064-0002 ELBOW 90D BRASS 169CA8-8 $9.61  
064-0003 ELBOW 90D BRASS 169CA4-2 $3.96  
064-0005 ELBOW 90D BRASS 269CA-6-6 $6.90  
064-0018 1/2 X 90D ELBOW $2.93  
064-0028 ELBOW 45D BR 2214P-2-2 $3.17  
064-0032 ELBOW 90D BR 169CA12-12 $20.97  
064-0037 ELBOW 90D BRASS 269CA4-4 $5.03  
064-0040 ELBOW 9OD 1/8NPT X 1/8OD $12.80  
064-0045 ELBOW 90D BR 269CA-6-6S $7.15  
064-0047 45D ELBW 1/8"NPTX1/4" TB $7.02  
064-0049 ELBOW 3/4NPTX3/4 FLARE $28.81  
064-0056 ELBOW-90 DEGREE BRASS $3.18  
064-0059 ELBOW-1/4"NPT X 1/2" TUBE 169CA-8-4 $9.36  
064-0060 ELBOW, GM212 $12.39  
064-0061 ELBOW 90 DEGREES BRASS $8.55  
064-0063 ELBOW 1/4 NPT X 1/4" $4.02  
064-0066 ELBOW, BREATHER TUBE SC23/46 $8.38  
064-0068 ELBOW 90 BR 3/4 NPT X 3/4 NPT $27.76  
064-0074 ELBOW, 199617000, FINI $4.64  
064-0076 ELBOW, VPP0301104 & VPP0200604 $4.88  
064-0077 ELBOW, M25 X G3/4 14 CFM L718083 $7.41  
064-0078 ELBOW, G3/4 18CFM L718081 $10.34  
064-0079 ELBOW, 90 DEGREE $5.69  
064-0083 ELBOW 45DEG MALE 3/8 TUBE X 1/4 NPT $8.19  
064-0092 ELBOW KELLOGG $11.00  
064-0093 ELBOW VPK1581768 $5.50  
064-0100 3/8" 90 ROMAX CONNECTOR $32.29  
064-0101 3/8"STRGHT CABLE CONNECT $22.69  
064-0107 1" 90 ROMAX CONNECTOR $20.48  



Powermate, Inc                                                                                             January 2008 

065-0012 NIPPLE - 3/4 X 3 $4.63  
065-0014 3/4" X 2" PIPE NIPPLE $2.82  
065-0038 NIPPLE 1/4 X 3 $3.62  
065-0040 PIPE NIPL 3/8 X4 SC23,46 $4.41  
065-0045 PIPE NIPPLE 3/8" X 8" LG $6.81  
065-0050 PIPE NIPPLE 1/4 X6 TW TK $9.76  
065-0059 OIL DRAIN NIPPLE B49 5&6 $6.96  
065-0061 PIPE NIPPLE 1/2"X6.50 LG $6.01  
065-0089 NIPPLE 1/8 X 6, MNFLD COOLING TUBE $3.51  
065-0092 NIPPLE, GM212 $6.19  
065-0093 NIPPLE, GM212 $4.81  
065-0096 NIPPLE 1/8" NPT X 6" $9.48  
065-0103 NIPPLE, 199110140, FINI $2.44  
065-0104 NIPPLE, 011017000, FINI $1.10  
065-0107 ELBOW 718024 $5.39  
068-0002 MALE CON 68CA4-2 $3.06  
068-0003 MALE CON 68CS-12-12 $11.64  
068-0008 CONN-MALE, 1/2NPT X 9/16 $5.77  
068-0009 CONN-MALE 1/2NPT X 11/16 $6.00  
068-0010 FEMALE CON 66CA4-4 $16.67  
068-0017 MALE CONNECTOR 1/4" NPT X 3/8" TUBE $2.04  
068-0031 MALE CON 1/8NPT X 1/8OD $6.30  
068-0051 MALE CONNECTOR $3.73  
068-0052 CONNECTOR TUBE DRILLED $7.73  
068-0053 CONNECTOR $1.88  
068-0058 UNLOADER FITTING, 1/2" NPT INT. $5.57  
068-0059 UNLOADER FITTING, 1/2" NPT COMP. $5.57  
068-0061 CONNECTOR 1/16 NPT X 1/4 TUBE BARB $1.45  
068-0063 MALE CONNECTOR 1/4" NPT X 1/2" TUBE $4.46  
068-0064 CONNECTOR, MALE 1/8 NPT, 3/8" TUBE $4.13  
068-0065 SWIVEL ASSY $46.50  
068-0066 CONNECTOR 1/4" X NPSM X 1/4" NPT $2.72  
068-0074 CONNECTOR 1/4NPT X 3/8" TUBE $7.13  
068-0078 FITTING 1/4" X 18 NPT X 5/8" BARB $9.73  
068-0081 CONNECTOR, 1/2"X1/4" NPT $8.93  
068-0081 CONNECTOR, 1/2" X 1/4" NPT $8.93  
068-0082 SWIVAL ASSEMBLY HOSE REEL $20.99  
068-0082 SWIVAL ASSEMBLY HOSE REEL $20.99  
068-0089 BREATHER CONNECTOR SC23/46 $9.16  
068-0090 CONNECTOR, 1/4"-18 NPT $3.17  
068-0504 CONNECTOR-MALE 3/4 X 3/4 $8.75  
068-0505 NUT-FLARED, 3/4 TB-PARKER# 14FSX-12 $10.03  
068-0506 CONN-1/8NPT X 1/4TB BARB $1.72  
068-0509 CONNECTOR - 3/8 NPT X 3/8 TUBE COMP $6.79  
069-0001 REDUCING TEE 172CA6-4 $8.07  
069-0002 RDCNG T 3/4 X 1/4 X 3/4 $7.94  
069-0004 TEE 1/4" $9.96  
069-0019 TEE MALE RUN 3/8" NPT $8.30  
069-0021 TEE, BREATHER CONNECTOR SC23/46 $7.57  
069-0024 T-FITTING BOTH ENDS M25 X 2 L718076 $13.27  



Powermate, Inc                                                                                             January 2008 

069-0025 TEE, 11/16 UNC & M25 X 2 L718075 $13.27  
069-0026 TEE, G3/4 41-18 UNS 18 CFM L718079 $15.87  
069-0027 TEE, G2/4 18CFM L718080 $14.57  
069-0028 TEE FITTING 718084 $7.37  
069-0052 3/8" PIPE TEE $6.81  
069-0053 TEE-1/4" NPT M W/1/4" F $9.30  
070-0003 UNLOADER 90-120 PSI $146.48  
070-0020 CENT UNLDR ASY SC23,SC46 $28.58  
070-0029 UNLDR 140-175PSI W/PORT $134.59  
070-0038 UNLDR ASY BRGS TW TK $109.28  
070-0044 VALVE-UNLOADER $105.40  
070-0045 VLV-UNLOADER, CONRADER $96.86  
070-0051 VALVE-UNLOADER, CONRADER $105.57  
070-0055 VALVE UNLOADER $73.63  
070-0056 VALVE, PILOT UNLOADER $56.49  
070-0057 VALVE - PILOT UNLOADER, 100 - 130 PSI $56.44  
070-0058 VALVE, PILOT UNLADER, 140-175 PSI $95.46  
070-0059 PILOT VALVE, 3/8" 105-130 PSI $95.44  
070-0060 PILOT VALVE, 3/8" 105-130 $69.67  
070-0061 PILOT VLV UNLOADER 125-155 PSI $55.70  
070-0108 PILOT VALVE-105-130 PSI $56.49  
071-0002 STRAIN RLF CON 3/8 METAL $1.33  
071-0003 STRN RLF CON 3/8-90D MET $3.48  
071-0004 STRN REL PIGLET RING $1.10  
071-0006 STRN RLF CON 1/2-90D MET $4.02  
071-0007 STRAIN RELIEF CON HEYCO $8.15  
071-0008 STRAIN RELEIF PLASTIC .875 DIA $1.10  
071-0011 STRAIN RELIEF, #1240 $1.10  
071-0013 CLAMP-STRAIN RELIEF, LEFT BIG $1.10  
071-0016 CLAMP, STRAIN RELIEF, BOTH SMALL $1.12  
071-0019 CLAMP - STRAIN RELIEF, BOTH BIG $1.12  
071-0020 CLAMP-1/4 ID 3/8 OD FUEL LINE UM5006 $1.10  
071-0021 CLAMP-1/4ID 1/2OD FUEL LINE P/N 003585 $1.10  
071-0023 CLAMP STRAIL RELIEF 1/5" $1.10  
071-0024 CLAMP STRAIN RELIEF 3/8 $1.10  
071-0025 STRAIN RELIEF CLAMP $1.10  
071-0026 CLAMP, STRAIN RELIEF 7/16" $1.10  
071-0027 CLAMP STRAIN RELIEF 3/8 DIA $5.57  
071-0028 CLAMP STRAIN RELIEF 1/4" $5.66  
072-0001 PETCOCK 1/4" DC604-4 $3.17  
072-0002 PETCOCK, 1/8" $2.49  
072-0006 PETCOCK, 1/4" NPT $5.46  
072-0007 PETCOCK-SHT OFF VLV PN 0049114 $7.54  
072-0008 PETCOCK, GM212 $8.25  
072-0009 PETCOCK, INFLATOR $4.27  
072-0010 PETCOCK, 022021000, FINI $4.52  
072-0016 PETCOCK VPK0880803 $6.05  
072-0112 PETCOCK, INFLMTE 9310B011 $3.66  
073-0001 GATE VLV 1/4" $13.81  
073-0007 QUARTER TURN VLV 3/8"NPT $13.20  



Powermate, Inc                                                                                             January 2008 

073-0008 QUARTER TURN VLV 1/2"NPT $15.99  
077-0053 REAR BRG CVR B5000,B6000 $31.76  
077-0055 FRNT BRG CVR - B5000 $41.20  
077-0056 CRNKCS BASE - B6000 $57.76  
077-0057 FRNT BRG CVR - B6000 $20.34  
077-0069 SC23 CRNKCASE $30.15  
077-0070 CENT UNLDR ADPT PLT $8.17  
077-0071 UNLOADER SC23 $11.61  
077-0072 CRNKCS SIDE CVR FOR SC46 $10.59  
077-0073 VLV CVR FOR SC23, SC46 $6.35  
077-0081 BRG CVR (FWHL SIDE)B7000 $28.51  
077-0082 BRG CVR (OPP FWHL) B7000 $24.43  
077-0083 CRNKCS BASE - B7000 $106.91  
077-0095 CRNKCS BASE B4900 $72.13  
077-0096 BRG CVR(OPP FLYWHL)B4900 $9.38  
077-0097 BRG COVER (FLYWHL SIDE) $27.24  
077-0106 HOLE PLUG 1 1/16" DIA $1.10  
077-0108 AIR INTAKE MUFFLER $19.09  
077-0118 FILTER-COVER, 3HP, DD $1.10  
077-0125 BASE CRANKCASE $103.39  
077-0137 COVER-TERMINAL $1.10  
077-0144 CAP PLUG-1.25 X 2" $28.14  
077-0148 OIL PAN 130/165 PMP $8.03  
077-0151 COVER, JF PRESSURE SWITCH $2.83  
077-0153 CAP-FUEL, 3 GAL. P/N 0055350 $8.94  
077-0154 COVER, BACK (CONTROL PANEL) DUAL PWR $20.29  
077-0155 CAP, PLASTIC 1.00 $1.10  
077-0156 COVER, HOSE HOOK $2.43  
077-0157 DRAWER WORKBENCH $29.30  
077-0160 RAIL END CAP WORK BENCH $1.78  
077-0162 DRAWER SLIDES R.H WORKBENCH $12.21  
077-0163 DRAWER SLIDES LH WORKBENCH $12.21  
077-0169 COVER, CRANKCASE 016091002, FINI $7.49  
077-0171 CAP, REAR 753/755H $19.54  
077-0172 CAP DRIVE END 753/755H $12.70  
077-0180 CAP REAR 14 CFM L701018 $7.94  
077-0181 END CAP, DRIVE END, 14 CFM L701142 $24.34  
077-0182 REAR END CAP 18CFM L701007 $7.94  
077-0183 DRIVE END CAP 18CFM L701143 $26.05  
077-0185 CAP REAR SMALL 753/755H $12.70  
077-0186 HOLD DOWN CVR L.P. INLET KELLOGG $8.65  
077-0187 HOLD DOWN CVR L.P. KELLOGG $9.30  
077-0188 HOLD DOWN CVR H.P. INLET KELLOGG $9.55  
077-0189 HOLD DOWN CVR HP KELLOGG $8.24  
077-0190 PARTS STORAGE LID VPK0880803 $1.32  
078-0001 REGULATOR PISTON $2.80  
078-0011 PLNGR - UNLDR SC23, SC46 $11.31  
078-0015 PISTON - REGULATOR, NYLON $3.07  
078-0018 DIGITAL CAP GAUGE $2.46  
078-0020 MANIFOLD, LEFT BOTM COVER $3.57  



Powermate, Inc                                                                                             January 2008 

079-0002 BALL SEAT 1/2" $3.39  
079-0005 BALL SEAT 1/4" $1.17  
079-0014 BALL SEAT 3/8" 130, 165 $1.72  
079-0017 VALVE SEAT REGULATOR $7.48  
080-0023 -0004 X 15" FOR 026-0069 $4.47  
080-0024 -0004 X 19" FOR 026-0070 $6.14  
080-0040 3/8 FLX CONDUIT X 20" LG $6.31  
082-0012 INTCLR FOR SC23, SC46 $49.46  
082-0013 AFTCLR FOR MODEL SC46 $39.70  
082-0014 AFTCLR FOR MODEL SC23 $36.40  
082-0015 INTCLR TUBE - B7000 $113.60  
082-0016 INTC TB - B5000, B6000 $36.68  
082-0017 INTCLR TUBE B4900 $61.18  
082-0018 OUTLET ADAPTER B4900 $24.64  
082-0019 ADAPTOR IN/OUTLET B4900A $18.16  
082-0024 TUBE-INTERCOOLER, ABAC $61.44  
082-0026 INTERCOOLER TUBE-B7000 $109.25  
082-0027 INCLR TUBE-B5000/B6000 $32.33  
082-0028 INTERCOOLER TUBE-B4900 $56.83  
082-0029 INTERCOOLER TUBE-B5900 $57.09  
083-0008 AFTCLR ELBOW FOR SC46 $13.99  
083-0009 AFTCLR ELBOW FOR SC23 $9.65  
084-5067 RAIL, WORK BENCH $38.19  
090-0001 AIR THRTL CYL $52.64  
090-0006 THRTL ASY 5HP GAS - IAM $1.10  
090-0007 CNTRL WIRE FROM HN GX140 $3.17  
090-0012 AIR THRTL KIT ECD 205BN $41.41  
090-0015 AIR THRTL KIT 5&8HONDA $37.35  
090-0017 AIR THRTL KIT 8HP HONDA $42.43  
090-0021 AIR THRTL KIT 11HP HONDA $38.58  
090-0023 AIR THROTTLE KIT 11 HP BRIGGS $37.34  
090-0024 VALVE THROTTLE CONTROL, HONDA GC13 $30.48  
090-0025 VALVE, THROTTLE CONTROL $30.48  

090-0027 
VALVE, THROTTLE CONTROL, HONDA G X 
160 $30.48  

090-0030 SOLENOID ASSY $20.87  
090-0100 AIR THRTL KIT 10-16HP KO $40.87  
091-0009 GUN FRAME 32RB7A - IN $26.20  
092-0011 KNOB REG ASSY (FL) $9.95  
092-0013 KNOB CLAMP $3.26  
092-0017 KNOB, 3.0 W/1.74 STUD $10.27  
092-0019 KNOB W/INSERT WORKBENCH $7.17  
092-0019 KNOB W/INSERT WORKBENCH $7.06  
092-0020 KNOB, NORGREN REG ASSY UP100 $4.07  
092-0022 KNOB KIT W/DECAL DIGITAL $7.90  
092-0023 KNOB OUTER KOBALT MECHANICAL $4.18  
092-0026 KNOB, SWITCH KOBALT $2.44  
092-0027 KNOB, DIGITAL $6.03  
092-0032 MANIFOLD KNOW VPK0880803 $3.74  
092-0035 REGULATOR KNOB VPK1581768 $5.28  
093-0005 BUTTON PLUG 7/8" $1.10  



Powermate, Inc                                                                                             January 2008 

093-0007 HANDLE GRIP $1.95  
093-0008 093-0009 CUT 1.5" LENGTH $1.10  
093-0014 HNDL GRIP 1" 8HP TWIN TK $3.07  
093-0019 GROMMET-ISOLATOR $1.19  
093-0020 BUMPER, RUBBER $1.17  
093-0026 GRIP-HANDLE, WRAP STYLE $3.17  
093-0027 GRIP-HANDLE, RBR, 1" ID $8.82  
093-0029 GRIP-HANDLE, 7/8" SQ TB $2.70  
093-0030 HANDLE-GRIP BLACK $2.43  
093-0031 HANDLE GRIP $1.75  
093-0043 GROMMET-FUEL TNK MNT PN 0048243 $1.10  
093-0044 GROMMET-FUEL TNK PTCK PN 0049113 $1.10  
093-0045 HANDLE GRIP, 1" SQUARE $3.39  
093-0046 GROMMET INTAKE MUFFLER $1.10  
093-0050 GROMMET ISOLATOR INVECTOR $1.10  
093-0056 HANDLE, GRIP 127GH0012, FINI $2.44  
093-0060 HANDLE GRIP VPP0200604 $1.95  
093-0070 HANDLE GRIP KIT 26 GALLON VP $12.83  
093-0072 HANDLE GRIP ALTON K074-1201 $1.32  
093-0080 HANDLE GRIP VPK1581768 $6.49  
093-0081 GROMMET ASSY VPK1581768 $1.54  
094-0002 VIBRATION ISOLATOR $3.18  
094-0009 VIBRATION PAD - TWIN TK $3.05  
094-0010 VIBRATION PAD - BELT GRD $1.10  
094-0015 VIB PAD 1.5 C-CHANNEL $1.83  
094-0017 (SERVICE) VIB ISOL 1 1/4" DIA $2.86  
094-0021 VIBRATION PAD 4X4X1 $9.13  
094-0026 FOOT-RUBBER $2.18  
094-0028 VIBRATION ISOLATOR $4.04  
094-0029 ISOLATOR, C-CHANNEL VIBRATION  PAD $1.12  
094-0030 ISOLATOR, C - CHANNEL VIBRATION PAD $1.11  
094-0031 ISOLATOR 1" X 3" $2.16  
094-0032 VIBRATION PAD, GM212 $4.81  
094-0033 ISOLATOR FOOT $7.59  
094-0034 VIBRATION ISOLATOR, DUAL POWER $5.26  
094-0036 RUBBER STRIP X 2.5 LONG $1.59  
094-0038 SOUND MATERIAL $22.07  
094-0092 FOOT RUBBER, PUMA $3.30  
094-0109 VIBRATION, DAMPER, TANK, 020118000, FINI $1.10  
094-0110 VIBRATION, DAMPER, 199575000, FINI $1.10  
094-0113 RUBBER FOOT, VP0200406 BENIGN $1.83  
094-0115 ISOLATOR-VIBRATION 4X4X1/2" MLA8018080 $7.44  
094-0116 VIBRATION PAD KIT VPP0200604 01204-14 $1.83  
094-0118 VIBRATION PAD KIT PS0200404 K071-2461 $1.43  
094-0120 VIB PAD KIT, INFLATIONMATE 9310B067 $10.58  
094-0122 INSULATION PAD $3.24  
094-0133 VIBRATION PAD KIT VPK0880803 $6.05  
094-0154 VIBRATION KIT VPK1581768 $1.76  
095-0010 WHL 8 X1.75 RBR 1/2 AXLE $7.99  
095-0014 WHL 10X1.75 PLSTC 5/8AXL $13.70  



Powermate, Inc                                                                                             January 2008 

095-0016 WHL 7X1.50 RBR 1/2"AXLE $9.02  
095-0018 PNUE TIRE 10X3 8HP TWIN $48.70  
095-0023 WHEEL ASSY-10.5X3.5 TURF $38.11  
095-0028 WHEEL 10" 1/2" AXLE $12.15  
095-0029 WHEEL 10.5 OD X 3.5 TURF 1/2" AXLE $37.01  
095-0030 WHEEL, GM212 $10.35  
095-0031 WHEEL 10"X2 3/4" WIDE .50 BONE $28.89  
095-0032 WHEEL, 10.5 PNEUMATIC $28.40  
095-0033 CASTER 5" SWIVEL $12.74  
095-0034 CASTER 5" FIXED $11.40  
095-0035 CASTER 2" TWIN $5.09  
095-0036 WHEEL PUMA $7.13  
095-0037 WHEEL, 020130000, FINI $8.22  
095-0038 WHEEL, 10" X 3.5 PNEUMATIC $15.94  
095-0040 WHEEL, VP0200406 BENIGN $7.94  
095-0042 WHEEL VPP0200604 01204-16 $5.62  
095-0043 WHEEL KIT W/HRDW VPP0301104 01205-13 $9.77  
095-0044 WHEEL 8 X  1.5 X 1.5 RUBBER $8.80  
095-0045 WHEEL 9" X 1.75" X 1/2" BLACK $12.29  
095-0046 WHEEL, 7" X 1.50 X 1/2" $6.77  
095-0048 WHEEL 10" PNEUMATIC PLASTIC HUB $16.57  
095-0049 WHEEL ALTON K073-1101 $25.58  
095-0051 WHEEL KIT SUMEC HT00059 $9.93  
095-0054 WHEEL FOR PW0551750 $10.05  
095-0061 WHEEL KIT FOR DP0200604 - 6" $12.76  
095-0069 WHEEL KIT VPK0880803 $14.19  
096-0009 UNLDR WEIGHT - SC23,SC46 $4.13  
096-0023 DIGITAL GEAR KIT (2 GEARS) $8.23  
098-1020 LABEL WARNING $3.57  
098-1062 LABEL DRAIN WARNING $1.10  
098-1085 LABEL, WARNING, TK DRAIN $1.10  
098-1104 LABEL WARNING $2.17  
098-1105 LABEL WARNING $3.58  
098-1198 LABEL WARNING $4.58  
098-2276 LABE, CAUTION ENGLISH $1.63  
098-2277 LABEL, CAUTION FRENCH $1.63  
098-2278 LABEL, CAUTION SPANISH $1.72  
098-2336 LABEL, WARNING W/TANK DRAIN VERT. $4.93  
098-2337 LABEL, WARNING HORIZONTAL $3.06  
098-2437 LABEL, WARNING DUAL POWER $5.81  
098-2534 LABEL DRAIN $4.84  
098-2537 LABEL WARNING $5.72  
098-2569 LABEL WARNING $2.17  
098-2856 LABEL, WARNING $1.10  
103-0061 CLIP THREADED $1.13  
103-0073 FASTENER, 1/4 TURN $1.10  
103-0075 TAPE-TEFLON, 30" MIN $2.10  
103-0124 CIRCLIP, 015024000, FINI $1.10  
105-0002 MNFLD GUIDE W/GROOVE $2.16  
105-0003 GUIDE ASSY $3.21  



Powermate, Inc                                                                                             January 2008 

105-0004 MNFLD KIT $7.16  
105-0015 REG REPAIR KIT $10.74  
105-0016 REGULATOR REPAIR KIT FOR 141-0270 $10.56  
105-0017 REG REPAIR KIT VPK1581768 $11.00  
106-0002 FACE PLATE $5.67  
106-0045 REGULATOR PLATE  $4.18  
107-0004 AIR ADJ NEEDLE ASY - IN $8.96  
107-0005 NEEDLE PIN ASY - IN $11.19  
107-0006 NEEDLE PIN - IN $11.34  
107-0009 NEEDLE PIN ASY 60RB6A IN $11.19  
107-0015 UNLDR PIN FOR SC23, SC46 $1.10  
107-0047 PIN-SPRING, 3/16 X 1.00 $1.10  
107-0055 DRAIN LINKAGE ASSY $7.75  
107-0068 PN DIA 4 X 10 VPK1581768 $1.10  
108-0144 PLATFORM, DUAL POWER $78.06  
108-0186 AXLE VPK0880803 $6.31  
110-0036 AXLE ASSY $8.03  
110-0039 HOSE REEL AXLE FRAME ASSY $31.56  
110-0039 HOSE REEL AXLE FRAME ASSY $31.56  
112-0002  HANDLE COMPRESSOR $6.79  
112-0031 HANDLE - PORT IND $8.19  
112-0036 HANDLE RIGHT HAND TW TK $13.61  
112-0037 HANDLE LEFT HAND TW TK $13.61  
112-0051 HANDLE-M5 $4.13  
112-0083 HANDLE ASSY, 40 GL VERT. PORT. $23.38  
112-0090 HANDLE ASSY $30.18  
112-0097 HANDLE ASSEMBLY, DUAL POWER $25.58  
112-0098 HANDLE ASSY 123 PMP $20.48  
112-0100 HANDLE SWITCH $1.55  
112-0102 HANDLE ASSY 11&15 GAL VERT PORT $21.55  
112-0114 HANDLE ASSEMBLY HOSE REEL $9.68  
112-0114 HANDLE ASSEMBLY HOSE REEL $9.68  
112-0120 HANDLE VPP0301104 01205-10 $3.66  
112-0142 HANDLE, INVECTOR PORTABLE BOLT ON $23.59  
112-0150 HANDLE ASY VPK0880803 $26.88  
112-0155 HANDLE VPK1581768 $16.50  
114-0006 BLT GRD BRKT $1.10  
114-0017 ENGINE MTG BRKT 3-5HP $3.60  
114-0020 AIR THROTTLE SPRNG BRKT $1.23  
114-0035 GAS ENG MTG BRKT 8,11 HP $8.40  
114-0079 TK BRKT 1/8 X 1" X 8" LG $1.55  
114-0100 AIR THRTL MTG BRKT HONDA $4.81  
114-0101 STABILLIZER BAR, GAS UNITS $2.20  
114-0112 CENTRIF UNLDR WEIGHT HLD $5.67  
114-0129 BRACE '85 PORT BLT GRD $1.67  
114-0139 STAB BAR 30GB - IAM $1.20  
114-0144 BRKT RH ELC;LH GAS SC23 $2.83  
114-0145 BLT GRD BRKT LH SC23 $2.83  
114-0149 GRD BRKT B5000 $3.06  
114-0166 BLT GRD BRKT B5000 GAS $1.10  



Powermate, Inc                                                                                             January 2008 

114-0172 GRD BRKT 10"LYT W/HOLE $1.27  
114-0174 BRKT RH 10HP KHLR W/SC23 $2.83  
114-0177 1/8 X 1" FLAT BRKT 5.5" $1.53  
114-0181 BLT GRD BRKT SC46 $1.64  
114-0185 BLT GRD BRKT B6000 TOPS $6.71  
114-0187  BLT GRD BRKT B4900 RH $4.65  
114-0188 BLT GRD BRKT SC46 RH $6.85  
114-0189  BLT GRD BRKT SC46 LH $6.85  
114-0197 BLT GRD BRKT HNDA 8HP TT $3.29  
114-0215 SLEEVE BRACKET $25.64  
114-0216 REGULATOR/PIPE CLAMP BRK $16.94  
114-0220 SPACER $1.78  
114-0348 BRACKET BELTGUARD 1.0 $1.10  
114-0349 BRACKET, BELTGUARD $3.83  
114-0364 BRACKET BLT  GRD GAS SC23 $2.83  
114-0368 STAB BAR, HONDA / SC23 $9.64  
114-0369 BRACKET, BELT GUARD 14" $3.00  
114-0371 BRACKET, BELTGUARD $1.43  
114-0383 BRACKET-STABILIZER BAR LONG $2.63  
114-0391 BRACKET-BELTGUARD $3.59  
114-0395 CONTROL PANEL W/LABEL $10.41  
114-0398 PANEL FRAME SUPPORT, DUAL POWER $10.41  
114-0412 HEAT SHIELD PANEL, DUAL POWER $21.02  
114-0421 PANEL, CONTROL, DUAL POWER $36.15  
114-0425 STABILZER BAR, DUAL POWER $5.68  
114-0428 MANIFOLD BRACKET, DUAL POWER $5.78  
114-0439 BRACKET, GENERATOR MOUNTING   $8.97  
114-0463 LEVER REMOTE DRAIN $7.05  
114-0463 LEVER, REMOTE DRAIN $5.11  
114-0464 HOSE HOOK $3.23  
114-0474 HOSE HOOK $1.10  
114-0477 BRACKET FOAM PAD $20.31  
114-0477 BRACKET FOAM PAD $17.30  
114-0481 SKYHOOK HOOK ASSY DUAL POWER $21.07  
114-0534 PANEL BATTERY BOX COVER $11.84  
114-0535 PEDAL FOOT DRAIN $5.74  
114-0535 PEDAL FOOT DRAIN $5.80  
114-0550 TOOL HOLDER 21 GAL UMC $7.28  
114-0592 BRACE-BELTGUARD, B4900 $7.90  
114-0625 FINNED TUBE BRACKET KELLOGG $14.31  
114-0641 CAPACITOR HOLDER VPK0880803 $1.98  
115-0055 BELT GUARD BACK $34.29  
115-0065 BELT GD GRILL-OUTER $27.83  
115-0068 BACK-BELTGUARD ER TWIN $28.23  
115-0072 BELTGUARD BACK, DUAL POWER $29.93  
115-0073 ROMET END WORKBENCH $35.57  
115-0073 PANEL END WORKBENCH $29.11  
115-0074 BACK PANEL BD WORKBENCH $67.63  
115-0075 PANEL BACK DD WORKBENCH $60.41  
115-0077 PANEL, ASSY BACK-DD $66.97  



Powermate, Inc                                                                                             January 2008 

115-0091 ASSEMBLY LID 10KW HSB $440.83  
115-0097 STATOR END PANEL HSB $112.28  
115-0099 FRONT PANEL 10KW $128.39  
115-0099 FRONT PANEL 10KW $117.05  
115-0106 BOX OIL COOLER 10KW HSB $49.03  
115-0110 LID ASSY 10KW $422.00  
115-0112 PANEL BACK 10KW $132.94  
115-0115 ASSY PANEL ENGINE END 10KW $641.73  
115-0151 25KW Lid, Service Assy $641.69  
115-0168 CONTROL BOX BODY WELD $32.54  
115-0300 PLASTIC DOOR, INFLATIONMATE 9310B003 $7.33  
115-0311 PLASTIC DOOR, INFLATIONMATE 9310B003 $22.79  
117-0011 MANIFOLD-EXHAUST $8.07  
118-0023 INLET FLTR SCRN 130,165 $1.81  
118-0032 SCREEN, 753/755H $2.20  
118-0033 WATER INLET FILTER SCREEN $2.34  
125-0073 UNDRPN USE W/142-0009,20 $9.90  
125-0091 UNDR PAN MOTOR BLT GRD $1.48  
125-0099 UNDERPAN COMP END 500B $4.18  
125-0100 UNDERPAN MOTOR END 500B $4.18  
125-0101 BLT GRD UNDERPAN SNG/64 $5.67  
125-0102 BLT GRD UNDERPAN TWIN $5.67  
125-0103 BLT GRD UNDERPAN GAS $6.43  
125-0104 BELTGUARD UNDERPAN $9.54  
125-0105 SHEILD B5900 $4.71  
125-0113 UNDERPAN $10.86  
125-0120 UNDERPAN-10HP, ELEC $10.91  
125-0146 UNDERPAN, BELTGUARD $9.89  
125-0151 POLYMER BELTGUARD OUTER $10.87  
125-0152 POLYMER BELTGUARD INNER $10.87  
125-0154 UNDERPAN B4900 $10.30  
125-0165 BELTGUARD TOP, DUAL POWER $16.87  
125-0166 BELTGUARD HORSESHOE, DUAL POWER $21.34  
125-0174 BELTGURARD INNER WIRE 30 GAL BD $29.33  
125-0175 BELTGUARD OUTER WIRE 30 GAL BD $29.33  
125-0179 BASE VPK0880803 $20.63  
125-0180 HOSE HOLDER VPK0880803 $3.19  
125-0181 PROTECTIVE COVER VPK0880803 $1.10  
127-0039 KIT-TK, 11 GAL BARE FL $163.53  
127-0044 KIT - SERVICE TANK 11 GAL OIL $159.12  
127-0047 KIT TANK, 11 GAL VERT / PORT $171.03  
128-0028 KIT-TANK, 11GAL PORT $180.88  
128-0033 KIT-TANK 11 GALLON $180.14  
130-0016 KIT-TANK, 20 GAL ELEC $217.87  
130-0036 KIT-TANK, 20GL GAS PORT $253.46  
130-0042 KIT-TK 20GAL ELEC BLT DR $216.16  
130-0045 SERVICE KIT 20 GALLON $200.40  
130-0049 KIT TANK 20 GAL $219.66  
130-0051 KIT - SERVICE TANK, 20 GAL OIL $210.55  
130-0062 KIT-TANK, 20 GAL DD 6HP $221.70  



Powermate, Inc                                                                                             January 2008 

130-0063 TANK KIT 20 GAL HORIZ PORT 123 $223.05  

130-0067 
KIT-TANK WELDMENT, 20 GAL GAS HORZ 
PORT $184.73  

130-0068 KIT-TANK WELDMENT, 20 GAL HORZ PORT $233.57  
130-0071 TANK KIT, 20 GAL HORZ W/HOSE REEL BRKT $215.62  
131-0018 KIT-TANK, 25 GAL ELEC $246.53  
131-0021 KIT-TANK, 25GAL, ELEC $249.21  
131-0025 KIT TANK 25 GAL $243.14  
131-0028 TANK ASSEMBLY 25 GAL $234.61  
131-0034 KIT-TANK WELDMENT, 25 GAL HORZ PORT $198.68  
136-0004 125# ASME PRESS RLF VLV $7.54  
136-0005 150# ASME PRESS RLF VLV $8.52  
136-0006 165# ASME PRESS RLF VLV $7.54  
136-0007 200# ASME PRESS RLF VLV $7.54  
136-0013 BLDR VLV-FRNS BLDR SWTCH $14.26  
136-0024 110# ASME PRESS RLF VLV $10.03  
136-0029 115# ASME PRESS RLF VLV $6.94  
136-0037 135# ASME PRESS RLF VLV $6.94  
136-0038 PRESSURE SWITCH BLDR VLV $47.28  
136-0040 PRES SWITCH BLDR VALVE $17.32  
136-0042 200#ASME SFTY VL 3/8"NPT $11.17  
136-0043 DELAYED UNLOADER VALVE $14.07  
136-0046 VALVE-PRESS RLF, 75 PSI $7.54  
136-0047 VALVE-PRESS RLF, 225 PSI $7.54  
136-0048 VALVE-PRESS RLF, 200 PSI $9.83  
136-0049 VALVE-PRESS RLF, INCLR $8.71  
136-0056 RELIEF VALVE, 140 PSI $7.54  
136-0057 PRESSURE RELIEF VALVE $33.27  
136-0064 UNLOADER VALVE SERVICE KIT $14.29  
136-0067 PRESSURE PRELIEF VALVE - ASME 145 PSI $7.54  
136-0069 VLV, SFTY RELIEF 145 PSI, GM212 $16.06  
136-0070 VALVE, BLEEDER, GM212 $8.19  
136-0072 REMOTE DRAIN VALVE $24.49  
136-0073 RELIEF VALVE, 170 PSI $6.99  
136-0074 VALVE, PRESSURE RELIEF, 347022000, FINI $4.76  
136-0075 VALVE, COLD START, 011158000, FINI $5.25  
136-0076 BLEEDER VLV VPP0301104 01205-18 $8.91  
136-0077 PRESSURE RELIEF VALVE 175PSI $7.00  
136-0082 VALVE PR RELIEF, XINLET 1.5.063.025 $9.60  
136-0087 SAFETY VLV L.P. KELLOGG $11.42  
136-0088 SAFETY VLV H.P. KELLOGG $11.42  
136-0090 BLDR VLV FOR 034-0204 $13.74  
136-0091 PRV VPK0880803 $3.30  
137-0001 KNOB ASY MNFLD $9.29  
139-0009 CK VLV ASY 1/2 X 3/8 $9.72  
139-0010 CK VLV ASY 1/2 X 1/2 $9.94  
139-0013 CHECK VALVE ASSY 3/8 X 3/8 $8.69  
140-0006 REP TK DRN TB 3/8" X 17" $1.66  
141-0016 MNFLD ASY REP PARTS ELC $80.13  
141-0141 ASSY REGULATOR/MANIFOLD $71.92  
141-0160 KIT-REPAIR, MANIFOLD $91.77  



Powermate, Inc                                                                                             January 2008 

141-0250 MANIFOLD ASSY, DIGITAL $55.97  
141-0267 MANIFOLD ASSY SVC DS II $99.99  
141-0270 ASSEMBLY-MANIFOLD MECHANICAL $37.46  
141-0281 MANIFOLD ASSY, DSII 10 GAL SVC $106.42  
141-0283 IN PLATFORM MANIFOLD W/DUAL GAUGES $92.87  
141-0287 MANIFOLD ASY VPK0880803 $34.76  
141-0288 MANIFOLD ASY VPK1581768 $42.31  
142-0009 GRD ASY T35, SC23 $90.20  
142-0039 SHROUD 130/165 PUMP $10.18  
142-0040 BLT GRD T25, T29, V210 $74.51  
142-0045 GRD ASY SNGL IND ELC IAM $106.90  
142-0049 GRD ASY UL 130 PORT ELEC $36.84  
142-0052 GRD ASY - 10HP KOHLER $90.36  
142-0058 BLT GRD 5HP B5000 25" B $62.88  
142-0061 CMPT BLT GRD ASY EL TTK $35.89  
142-0062 CMPT BELT GUARD ASSY GAS TT $31.60  
142-0073 SHROUD-FRONT OILLESS HH $32.84  
142-0078 BELT GUARD ASY SC46 $117.83  
142-0080 BLT GRD ASSY 30 GAL GAS $86.27  
142-0084 BLT GRD ASSY 5HP ELEC $114.83  
142-0085 BLT GRD ASSY 10HP ELEC $108.82  
142-0092 WELDT-BELTGRD 11HP HONDA $94.41  
142-0097 COVER - FRONT BLACK E - SER $7.36  
142-0098 BELT GUARD KIT-MAC3000 $105.76  
142-0112 SHROUD, OILESS ECONO BLACK $6.80  
142-0114 SHROUD - PARITAL BELTGUARD $10.67  
142-0115 BELTGUARD INTEK GAS $36.84  
142-0118 SHROUD, SCROLL, OILLESS FRONT $9.43  
142-0121 BELTGUARD FRAME , HORSESHOE ASSY $49.45  
142-0122 SHROUD, CLAMSHELL LEFT $13.21  
142-0123 SHROUD, CLAMSHELL RIGHT $13.21  
142-0125 SHROUD, MOTOR, GM212 $31.20  
142-0126 SHROUD, COMPRESSOR, GM212 $25.24  
142-0127 SHROUD, PLASTIC, INFLATOR $10.99  
142-0128 SHROUD TOP UP100 $18.22  
142-0129 SHROUD BOTTOM UP100 $18.22  
142-0130 PLASTIC HANDLE SHROUD COVER $4.07  
142-0131 BELTGUARD B4900 $75.54  
142-0132 SKIRT CASTER $26.76  
142-0133 COLLAR 16" DIA TANK $27.21  
142-0135 CAP CASTER SKIRT, PLASTIC $2.32  
142-0136 SKIRT PLASTIC CASTER W/PETAL $26.74  
142-0138 SHROUD PUMA $25.64  
142-0140 SHROUD, PLASTIC P0000201, ALTON $14.37  
142-0141 SHROUD, PLASTIC 116QC0001, FINI $8.30  
142-0146 SHROUD VPP0200604 01204-01 $14.81  
142-0147 SHROUD VPP0301104 01205-01 $16.77  
142-0151 SHROUD, 123 LEFT $7.26  
142-0152 SHROUD, 123 RIGHT $7.26  
142-0154 SHROUD, TOP, DIGITAL $15.71  



Powermate, Inc                                                                                             January 2008 

142-0155 SHROUD, BOTTOM DIGITAL $15.71  
142-0156 123 SHROUD SERVICE KIT $29.22  
142-0157 SHROUD, TOP DS II $16.11  
142-0158 SHROUD, BOTTOM DSII $15.77  
142-0163 SHROUD, TOP KOBALT MECHANICAL $19.07  
142-0168 SHROUD BOTTOM KOBALT MECHANICAL $19.07  
142-0172 SHROUD-TOP VARIABLE SPEED INVECTOR $13.49  

142-0173 
SHROUD-BOTTOM VARIABLE SPEED 
INVECTOR $13.49  

142-0175 KIT-BOTTOM SHROUD $28.35  
142-0176 SHROUD-BOTTOM, INVECTOR $13.53  
142-0178 SHROUD XINLET 2.4.00.0122 $13.76  
142-0186 TOOL COMPARTMENT VPK0880803 $10.67  
142-0187 FRONT SHROUD VPK0880803 $24.42  
142-0188 BACK SHROUD VPK0880803 $20.97  
142-0189 FRONT SHROUD VPK1581768 $9.17  
142-0190 FRONT OUTLET SHROUD VPK1581768 $9.17  
142-0191 BACK SHROUD VPK1581768 $9.17  
142-0192 SHROUD BACK INLET VPK1581768 $9.17  
142-0196 SHROUD HANDLE COVER $3.75  
142-0196 SHROUD HANDLE COVER $3.76  
145-0002 TRNSFR TB 3/8 X 9 $2.98  
145-0003 TRNSFR TB 3/8 X 15 $1.49  
145-0008 BLDR TB 1/4" X 9 1/4" $1.10  
145-0014  AIR THRTL TB 1/4 X 30 $3.22  
145-0028 TRNSFR TB 1/2 X 10 $5.50  
145-0052 BLDR TB 1/4 x 30 ALM $2.91  
145-0063 TB 1/2 X 26.5 T25 CO $9.25  
145-0074 DISCHG T8 1/2 X 13.5 GAS $5.09  
145-0078 TRNSFR TB 3/8 X 10.5 GAS $1.10  
145-0079 TRNSFR TB 1/4 X 10 GAS $1.10  
145-0082 TB-BLDR, 1/4 X 19 $2.38  
145-0084 BLEEDER TUBE 1/4 x 17 $1.96  
145-0092 TRANSFER TUBE 1/2" $7.37  
145-0093 TRNSFR TB 3/4 X 15-7/8 $5.45  
145-0096 1/4"X36" LG ALUM $2.61  
145-0107 BLDR TB 1/4 x 14 ALUM VERT $1.75  
145-0113 TRNSFR TB 1/2X12-3/8 ELC $4.37  
145-0114 TRANSFER TUBE B5000 $9.99  
145-0129 XFR TB CON RUN,DC GAS TT $4.35  
145-0133 XFR TB 3/4" 120GL H SC46 $8.22  
145-0140 TRNSFR TB 30GL HRZ B5000 $7.32  
145-0143  XFR TB 10 HP KHLR W/SC23 $20.78  
145-0149 TBE NYLN 1/8"OD X 32" LG $7.55  
145-0152 TUBE, TRANSFER 1/2 ALUM $5.36  
145-0154 XFR TUBE-1/2" X 27" $9.41  
145-0157  XFR TUBE 3/4 x 14 7/8 $13.54  
145-0160 BLDR TB 1/4OD X 17LG $3.85  
145-0172 TUBE-MANIFOLD $4.66  
145-0177 TUBE INTERCOOLER $86.74  
145-0178 TUBE TRANSFER $2.38  



Powermate, Inc                                                                                             January 2008 

145-0185 TUBE-UNLOADER $1.10  
145-0186 TUBE-UNLOAD 1/4 X 11 $1.42  
145-0190 TRANSFER TUBE B5900 $21.95  
145-0191 TUBE-XFR, .50 DIA COPPER $8.00  
145-0192 BLEEDER TB 1/4 x 17 LG $4.66  
145-0193 TUBE 1/4 x 36 LG $8.90  
145-0198 TUBE, TRANSFER 1/2 CPPR $5.44  
145-0200 TUBE TRANSFER 3/4" COPPER $21.43  
145-0210 TUBE TRNSFR 3/4" COPPER $8.95  
145-0211 TB, XFR 60GL V & 80GL H $8.79  
145-0212 TUBE BLEEDER 1/4 x 24 $7.64  
145-0221  TUBE 1/4" OD x 31" LG $8.90  
145-0226 TUBE TRANSFER 3/4" B5900 $8.96  
145-0232 TUBE, TRANSFER, FINNED $38.80  
145-0233 TUBE, BLEEDER, M125 $1.10  
145-0234 TUBE, TRANSFER M125 $1.29  
145-0237 TUBE, TRANSFER, F-TWIN $3.68  
145-0239 TB ASSY-XFR, SC46, 120H $51.30  
145-0241 TB ASSY-XFR, SC46, 80V $39.63  
145-0257 TUBE-XFR, TWIN TK, AL $7.56  
145-0258 TUBE-XFR, PORT, AL $3.27  
145-0264 TUBE-XFR, TWIN KT, CU $8.57  
145-0265 TUBE-XFR, PORT, CU $6.18  
145-0266 TUBE-XFR, .75 OD, CU $15.41  
145-0267 TUBE - XFR, .75 OD CU  $13.79  
145-0268 TUBE-XFR, F-SERIES $2.91  
145-0271 TUBE-TRANSFER, COPPER $10.06  
145-0275 TUBE-XFR, CU, F-SERIES $9.12  
145-0277 TUBE TRANSFER $8.25  
145-0280 TB-RGLTR/OUTLET, 3/8"NYL $2.07  
145-0281 TB-RGLTR/OUTLET, 3/8" OD $2.22  
145-0285 TRANSFER TUBE-1/2, B5900 $9.34  
145-0287 TRANSFER TUBE $1.72  
145-0288 TUBE-TRANSFER, CU, 1/2IN $5.94  
145-0290 TUBE TRANSFER $7.82  
145-0295 TUBE TRANSFER $8.57  
145-0296 TRANSFER TUBE 1/2" COPPER $8.44  
145-0299 TUBE TRANSFER 2 GAL $8.51  
145-0307 TRANSFER TUBE $6.22  
145-0312 TRANSFER TUBE 3/8" CPR $6.06  
145-0313 TRANSFER TB 3/8" ALUMINUM $3.02  
145-0315 TRANSFER TUBE B4900 (80V) $8.22  
145-0318 TUBE-TRANSFER, 27V, FL $3.57  
145-0322 TUBE, XFER B & S / B5900 $6.06  
145-0324 TUBE, NYLON, 1/4" X 28" $3.14  
145-0326 TUBE - TRANSFER, PORT OILLESS $4.34  
145-0327 XFER TUBE, 27 GAL FL  $9.10  
145-0328 TUBE  TRANSFER 44 GAL OILLESS $6.70  
145-0330 TRANSFER TUBE, BELT DR. $4.30  
145-0332 TUBE TRANSFER 27 GAL BD $4.73  



Powermate, Inc                                                                                             January 2008 

145-0334 BLEEDER TUBE $6.43  
145-0335 TUBE, TRANSFER, CU $7.14  
145-0336 TUBE, UNLOADER  CU $8.89  
145-0338 BLEEDER TUBE $5.67  
145-0340 TRANSFER TUBE 20 GAL GAS $9.75  
145-0341 TUBE, UNLOADER 20 GAL GAS $7.88  
145-0348 TUBE-FUEL LINE, 1/4X1/2 $2.37  
145-0350 TUBE, TRANSFER, ERTT 1/4" $8.40  
145-0351 TUBE, TRANSFER, ERTT 3/8" $5.50  
145-0354 TUBE-TRANSFER MNFLD TO TNK $1.72  
145-0355 TRANSFER TUBE 3/8" CPR $1.63  
145-0356 TUBE - TRANSFER, 1/2" ERTT $7.73  
145-0359 BLEEDER TUBE 3/8", DUAL POWER $8.48  
145-0360 TRANSFER TUBE 3/8", DUAL POWER $7.46  
145-0361 TUBE-BLEEDER, GM212 $6.88  
145-0362 TUBE, TRANSFER, GM212 $19.27  
145-0364 TRANSFER TUBE 123 PORT $3.58  
145-0365 TRANSFER TUBE 1/2" , DUAL POWER $24.13  
145-0366 TUBE TRANSFER HONDA $32.56  
145-0367 TUBE BLEEDER TO UNLOADER $7.64  
145-0369 TRANSFER TUBE 27, 30, 33 VP 123 $8.60  
145-0370 TUBE INTAKE MUFFLER $3.15  
145-0371 TRANSFER TUBE 15 GAL VP 123 $5.63  
145-0372 TRANSFER TUBE 11 GAL VP 123 $8.60  
145-0375 TUBE BLEEDER STACK 123 $1.67  
145-0377 TUBE MANIFOLD   $5.19  
145-0378 TUBE TRANSFER   $5.98  
145-0379 TUBE PLASTIC TO UNLOADER $2.64  
145-0381 TRANSFER TUBE HOTDOG 123 $6.88  
145-0382 TUBE BLEEDER HOTDOG 123 PMP $2.35  
145-0384 TUBE, TRANSFER 27 GAL VERT $7.99  
145-0386 TUBE TRANSFER 123 $8.79  
145-0387 TUBE TRANSFER CL0501512 $8.27  
145-0388 TUBE BLEEDER 123 $2.07  
145-0389 TUBE PLASTITE TO P/S $1.32  
145-0391 TUBE TRANSFER 21 GAL VP 123 $8.39  
145-0393 TUBE 8" BY 3/8" $10.12  
145-0394 TUBE NYLON 1175 X 1/4" $1.78  
145-0397 TUBE MANIFOLD WORKBENCH BD $3.51  
145-0398 TUBE TRANSFER UP 100 $7.17  
145-0399 TRANSFER TUBE HC125A $6.80  
145-0401 TUBE, BREATHER SC23 $11.56  
145-0402 TUBE BREATHER SC46 $11.56  
145-0405 TUBE, TRANSFER 15 GAL $4.10  
145-0409 TUBE TRANSFER HEAD TO TANK $7.73  
145-0410 TUBE TRANSFER TANK TO MNFLD $6.05  
145-0421 TUBE, BLEEDER PUMA $7.73  
145-0422 TUBE, TRANSFER PUMA $4.03  
145-0423 TRANSFER TUBE HEAD TO TANK, UMC $7.80  
145-0429 TUBE, TRANSFER CT5090412 $6.49  



Powermate, Inc                                                                                             January 2008 

145-0434 TUBE, TRANSFER, 117HA0011, FINI $8.22  
145-0435 TUBE, BLEEDER, 046001000, FINI $2.32  
145-0443 TRANSFER TUBE VPP0200604 01204-06 $4.88  
145-0444 BLEEDER TUBE VPP0200604 01204-07 $11.40  
145-0445 BLEEDER TUBE VPP0301104 01205-15 $5.13  
145-0446 TRANSFER TUBE VPP0301104 01205-16 $12.21  
145-0447 FINNED TUBE 14 CFM L725001 $30.44  
145-0448 TRANSFER TUBE PS0200404 1203-01 $19.43  
145-0449 BLEEDER TUBE PS0200404 1203-02 $9.83  
145-0450 FINNED TUBE 18CFM L725000 $38.10  
145-0453 TRANSFER TUBE $7.75  
145-0454 TUBE, 8" LG X 3/8" PLASTIC $2.45  
145-0455 FLEXABLE TUBE, MNFLD TO TANK $13.84  
145-0456 FLEXABLE TUBE, PMP-TANK $10.50  
145-0460 TUBE-TRANSFER FLEX, STEEL BRAIDED 5" $11.91  
145-0462 BLDR TUBE ALTON K053-1055 $7.94  
145-0463 BLDR TUBE XINLEI 1.5.011.032 $9.85  
145-0464 BLDR TUBE ALTON K149-1003 W/COMP $9.85  
145-0465 BLDR TUBE ALTON K149-1001 W/COMP $9.85  
145-0466 TRANSFER TUBE ALTON K052-2102 W/COMP $6.23  
145-0467 TRANSFER TUBE ALTON K052-2101 $6.11  
145-0468 TRANSFER TUBE ALTON K052-1102 $22.79  
145-0469 BLDR TUBE ALTON K053-1102 $9.28  
145-0470 TRANSFER TUBE SUMEC HT00057 $6.59  
145-0471 TRANSFER TUBE SUMEC HT00063 $11.23  
145-0475 TUBE TRANSFER XINLET 1.5.014.194 $4.88  
145-0486 FINNED TUBE W/COMP FTG 725239 $23.43  
145-0490 TRANSFER TUBE FINNED KELLOGG $122.09  
145-0521 1/4" x 23" LG BLDR TUBE $2.39  
145-0536 X-FER TUBE $19.86  
145-0541 X-FER TUBE VPK0880803 $8.80  
145-0542 BLDR TUBE VPK0880803 $8.43  
145-0547 TRANSFER TUBE VPK1581768 $7.15  
145-0548 BLDR TUBE VPK1581768 $7.63  
146-0007 KEY-3/16 X 5/16 X 1 1/4 $2.97  
146-0011 KEY 1/4 SQ X 1 1/2 $4.03  
146-0016 KEY 3/16 X 1 CLASS 1 FIT $1.10  
146-0024 KEY, WOODRUFF 5 MM X 19 MM $1.10  
146-0025 KEY, WOODRUFF 5 MM X 20 MM $1.10  
146-0026 KEY, 5 MM X 5 MM $1.10  
146-0027 KEY, 5 X 5 14 CFM L080030 $1.22  
146-0028 KEY 5 X 9 18CFM L080041 $1.22  
146-0221 KEY 1/4" SQ = .001/-.001 X 1 1/2" $1.81  
150-0033 TANK WLDMT-2X 2GAL $115.87  
150-0034 TANK KIT - MAC1000 $170.83  
150-0035 TANK KIT-MAC2000 $147.45  
150-0050 TANK KIT, 2 X 2 GAL $147.50  
150-0061 KIT-2.5GL ECONO $119.69  
150-0062 TANK KIT - MAC6000 $326.62  
150-0069 WELDMENT, HANDLE $30.36  



Powermate, Inc                                                                                             January 2008 

150-0080 KIT - TANK, 2.5 GAL, OIILLESS $118.61  
150-0085  TANK KIT 8 GAL GAS $317.38  
150-0086 TANK KIT 4 GAL GAS DIR DRV $279.30  
150-0088 TNK-FUEL, 3 GAL PLSTC PN #0049333.01 $32.83  
150-0089 TANK KIT 8 GAL EXT RUN $387.71  
150-0090 FUEL TANK, 5 GAL, DUAL POWER $33.55  
150-0092 TANK KIT 3 X 2 GALLON DUAL POWER $203.96  
150-0093 WELDMENT, FRAME, DUAL POWER $228.06  
150-0096 TANK, 6 GALLON, GM212 $115.67  
150-0097 FRAME ASSY KIT, DUAL POWER $476.39  
150-0101 FRAME WELDMENT WORKBENCH $217.55  
150-0102 TANK KIT 4 GAL STACKER 123 $196.49  
150-0103 TANK KIT 2.5 GAL HOTDOG 123 $169.44  
150-0104 TANK KIT 4 GAL PANCAKE 123 $212.95  
150-0106 TANK KIT FRAME ASSY HC125A $253.12  
150-0108 Tank Kit, 8 Gallon Caster VP $234.89  
150-0110 TANK KIT 8 GAL, CASTER W/PETAL $211.56  
150-0112 TANK 4 GAL PUMA $134.33  
150-0116 TANK KIT, HC125A $198.89  
150-0117 TANK ASSY, 168H95000, FINI $74.80  
150-0123 TANK KIT, 11 GAL VP UMC NC $174.24  
150-0124 TANK KIT, 11 GAL VP 123 NC $183.13  
150-0125 TANK KIT, 11 GAL VP $182.85  
150-0126 TANK ASSY, 4 GAL VP0200406 BENIGN $144.08  
150-0131 TANK KIT, 8 GAL GAS TT 755H $304.27  
150-0132 TANK KIT 20 GAL HORZ DIGITAL $209.66  
150-0133 TANK KIT, 1O GALLON VERT DIGITAL $186.88  
153-0032 KIT,TANK 60GL ASME VERT $427.99  
153-0034 KIT-TANK, 44GAL VERT $412.16  
153-0043 TANK, SERVICE KIT - 27 GAL, 130 $338.36  
153-0044 TANK, SERVICE KIT - 27 GAL, FL $339.11  
153-0047 TANK, SERVICE KIT 33GAL VP $336.71  
153-0049 TANK KIT, 15 GAL PORT D.D. $167.51  
153-0051 TANK KIT, 33 GAL W/HOSE REEL BRKT $347.29  
153-0061 TANK KIT 33 GAL VP W/HOSE HOOK $346.55  
153-0062 TANK KIT 15 GAL VP 123 $231.46  
153-0063 TANK KIT 11 GAL VP 123 $201.37  
153-0064 TANK KIT 27 GAL VP 123 $295.16  
153-0067 TANK KIT 30 GAL VP 123 W/HOSE HOOK $341.97  
153-0068 TANK KIT 33 GAL VP 123 W/HOSE HOOK $345.44  
153-0069 TANK KIT 15 GAL HORIZ PORT 123 $179.48  
153-0075 TANK ASSY 21 GAL VP 123 $213.91  
153-0081 TANK KIT 4 GAL UMC $122.63  
153-0082 TANK KIT 8 GAL UP UMC $164.27  
153-0083 TANK KIT 11 GAL UP UMC $183.12  
153-0084 TANK KIT 15 GAL UP UMC $211.85  
153-0085 TANK KIT 21 GAL UP UMC $290.68  
153-0086 TANK KIT 27 GAL UP UMC $357.04  
153-0091 TANK KIT 33 GAL VP HOSE REEL 123 $345.87  
153-0092 TANK KIT 33 GAL VP HOSE REEL 123 $344.56  



Powermate, Inc                                                                                             January 2008 

153-0093 TANK KIT 30 GAL HOSE HOOK $343.44  
153-0094 TANK KIT 27 GAL VP 123 $314.59  
153-0105 TANK KIT, 27 GAL BD WIDE TRACK 130 PMP $255.82  
153-0110 TANK ASSY, 27 GAL VP WD TRACK $250.46  
153-0111 KIT WELDMENT, 27 GAL VP $250.33  
153-0115 TANK KIT, 30 GAL VP BC WIDE TRACK $270.40  
153-0116 TANK KIT, 15 GAL HORZ UMC $165.04  
153-0119 TANK KIT, 30 GAL DD VP 155 PSI $238.88  
153-0120 TANK KIT, 15 GAL HZ DD 155 PSI $161.35  
153-0121 TANK KIT, 20 GAL HORZ PORT 155 PSI 753H $213.06  
153-0122 TANK KIT, 30 GAL VP 155 PSI 753H $266.58  
153-0123 TANK KIT, 60 GAL VP 155 PSI 755H $349.56  
153-0126 TANK KIT, 30 GAL VP METAL BG, KOBALT $317.18  
153-0127 TANK KIT, 150 GAL VP METAL BG, KOBALT $200.29  
153-0131 TANK KIT 22 GAL VP DIGITAL $211.53  
153-0132 TANK ASSEMBLY $209.66  
153-0133 TANK KIT 30 GAL VERT PORT UMC $293.49  
153-0136 TANK KIT, 20 GAL HORIZ DD $233.87  
153-0138 TANK KIT, 30 GAL DS II $234.03  
153-0146 TANK KIT 26 GALLON VP $298.41  
153-0149 TANK KIT, VLH1582609.01 $284.42  
153-0151 TANK KIT, 19 GAL UMC QUIET SERIES $170.82  
153-0203 KIT - SERVICE TANK, 27 GAL, OILLESS $291.32  
153-0205 KIT - SERVICE TANK, 27 GAL, BELTDRIVE $343.98  
153-0206 KIT,  TANK 15 GAL DD VERT/ PORT $205.36  
155-0034 DIAPHRAGM ASSY REG $7.70  
160-0026 MOTOR 10HP 3PHASE $765.09  
160-0027 MTR 3HP 1PH S184T FRAME $612.15  
160-0029 MOTOR 5 HP 3 PHASE $606.69  
160-0034 MOT, 7.5HP 230/460 VOLT $1,398.73  
160-0042 MTR 10HP 200/208V GOULD $671.17  
160-0059 MTR 3HP 3PH 200/208V GLD $335.09  
160-0127 7.5HP 3450RPM 1PH230VMTR $1,026.62  
160-0218 MOTOR-2HP, 50HZ $223.87  
160-0219 MOTOR-5HP, 50HZ $273.25  
160-0235 MOTOR TOPS SPECIAL $445.98  
160-0258 MOTOR, 7.5 HP 1PH 3450 C.I. $763.84  
160-0263 MOTOR, SPECIAL, 208-230 VOLT $171.37  
160-0264 MOTOR, 4 - 5 HP 115 VOLT $257.02  
160-0265 MOTOR, 3 HP 115 VOLT $220.98  
160-0266 MOTOR, 6 1\2 SPL $248.53  
160-0267 MOTOR 6HP 115V BELT/DRIVE $254.74  
160-0272 MOTOR, 5HP CAST IRON TOPS $490.46  
160-0281 MOTOR, SPL 5HP BELT DRIVE $176.41  
160-0291 MOTOR, 5HP 4-POLE BALDOR $683.30  
160-0294 MOTOR 5 HP 123 $242.32  
160-0295 MOTOR 6 HP 123 $268.31  
160-0296 MOTOR 2 HP 123 $193.06  
160-0317 ASSY, PUMP FRAME/MOTOR 2" DIGITAL $93.65  
160-0325 MOTOR 4 HP EMERSON $298.41  



Powermate, Inc                                                                                             January 2008 

165-0055 OVRHL KIT 165 CAN $38.98  
165-0064 KIT-OVERHAUL, SC23 $240.07  
165-0065 KIT-OVERHAUL, SC46 $456.29  
165-0068 KIT-OVERHAUL, B5000 $114.72  
165-0069 KIT-OVERHAUL, B6000 $245.13  
165-0070 KIT-OVERHAUL, B7000 $424.85  
165-0079 KIT-OVERHAUL, B4900 $183.33  
165-0083 OVRHL KIT 130 FLT $39.58  
165-0084 OVRHL KIT 130 CAN $52.27  
165-0087 CON ROD & CYL SLV DV $104.36  
165-0096 KIT RGLTR RPR OLLS D/D $24.84  
165-0142 START CAPACITOR REPLACEMENT KIT $29.18  
165-0224 KIT, VLV PLTS/GSKTS, VLVS GM212 $56.45  
165-0225 REPAIR KIT  FOR 010-0012SP $3.72  
165-0226 REPAIR KIT FOR 010-0013SP $3.72  
165-0227 REPAIR KIT FOR 010-0014SP $9.09  
165-0228 REPAIR KIT FOR 010-0015SP $9.09  
165-0229 REPAIR KIT FOR 024-0075SP $9.91  
165-0230 REPAIR KIT FOR 024-0076SP $6.82  
165-0231 REPAIR KIT FOR 024-0077SP $3.84  
165-0232 REPAIR KIT FOR 024-0078SP $11.57  
165-0233 REPAIR KIT FOR 024-0079SP $10.08  
165-0234 REPAIR KIT FOR 024-0082SP $7.44  
165-0235 REPAIR KIT FOR 024-0089SP $13.22  
165-0236 REPAIR KIT FOR 024-0091SP $23.13  
165-0237 REPAIR KIT FOR 024-0092SP $25.61  
165-0238 REPAIR KIT FOR 024-0108SP $28.09  
165-0239 REPAIR KIT FOR 024-0132SP $39.66  
165-0240 REPAIR KIT FOR P024-0098SP $9.42  
165-0241 REPAIR KIT FOR P024-0099SP $31.40  
165-0242 REPAIR KIT FOR P024-0101SP $26.44  
165-0243 REPAIR KIT FOR P024-0104SP $6.86  
165-0244 REPAIR KIT FOR P024-0110SP $19.83  
165-0245 REPAIR KIT FOR P024-0111SP $16.52  
165-0246 REPAIR KIT FOR P024-0112SP $25.61  
165-0247 REPAIR KIT FOR P024-0114SP $7.52  
165-0248 REPAIR KIT FOR P024-0115SP $28.50  
165-0249 REPAIR KIT FOR P024-0116SP $7.44  
165-0250 REPAIR KIT FOR P024-0139SP $5.45  
165-0251 REPAIR KIT FOR P024-0140SP $14.87  
165-0252 REPAIR KIT FOR P024-0141SP $7.44  
165-0263 OVERHAUL KIT, 753H PMP $139.19  
165-0264 OVERHAUL KIT, 755 PMP $139.19  
165-0265 OVERHAUL KIT, L180016 14 CFM $157.85  
165-0266 OVERHAUL KIT, L180023 $174.95  
165-0267 KIT, TANK PRESSURE INDICATOR DIGITAL $9.97  
165-0277 OVERHAUL KIT 010020 $111.69  
165-0278 OVERHAUL KIT KELLOGG $94.94  
166-0005  CAPST 1&2 HP 139852-45 $25.98  
166-0007 CAPST 5HP SPL 139852-55 $32.22  



Powermate, Inc                                                                                             January 2008 

166-0018 CAPACITOR-RUN, 1-3HP $48.62  
166-0019 CAPST 3HP 139852-51 $32.08  
166-0020 CAPST 5HP 139852-36 $38.91  
166-0025 CAP COV 1-4HP 103985-01 $9.51  
166-0028 CAP COV 5HP 103986-01 $9.53  
166-0029 CAP COV 5HP 103987-01 $9.53  
166-0050 CAP, START, 430/516 $28.58  
166-0051 CAP, START, 815/970 $62.86  
166-0052 CAP, RUN, 20MFD 370 $45.66  
166-0054 CAPACITOR, COVER $23.67  
166-0055 CAP, START, 161/193 $48.62  
166-0071 CAP-RUN, 50MFD, 370V $60.68  
166-0072 COVER-CAP, PLASTIC $60.96  
166-0075 CAP-START, 747 MFD, 125V $65.42  
166-0076 CAP-RUN, 50 MFD, 440 V $232.41  
166-0090 CAPACITOR - RUN $33.50  
166-0091 STEARNS START SWITCH $133.98  
166-0094 RUN CAPACITOR EMERSON $57.54  
166-0099 CAPACITOR, RUN $28.29  
166-0102 START CAPACITOR 189 - 227 UFD $72.46  
166-0103 START CAPACITOR COVER $15.84  
166-0104  RUN CAPACITOR 40 MFD/370 VAC  $55.16  
166-0105  START CAP 161-193 MFD/220 VAC $52.00  
166-0106  RUN CAPACITOR COVER 174211-52 $9.83  
166-0107 CAPACITOR, 60 MFD, GM212 $65.05  
166-0108 CAPACITOR, 10 MFD, GM212 $22.95  
166-0109 CAP-START BALDOR EC126C06 $78.38  
166-0110 CAP-RUN BALDOR OC3040F09 $82.73  
166-0111 CAP-COVER BALDOR 36CB3800 $63.25  
166-0112 CAPACITOR START AOS 6HP $40.03  
166-0114 CAP COVER START ADS 6 HP $9.51  
166-0116 CAPACITOR START AOS 5HP $30.18  
166-0117 CAPACITOR START ADS 2HP $25.95  
166-0120 RUN CAP ADS 2.5 HP $48.62  
166-0121 CAP COVER RUN ADS 2.5 HP $9.51  
166-0122 CAP START ADS 5 HP BELT $32.49  
166-0126 CAPACITOR START AO SWITCH $31.06  
166-0127 CAPACITOR RUN 6 HP AO SWITCH $40.58  
166-0128 CAPACITOR START 400-480 MFD $18.61  
166-0129 CAPACITOR START, COVER GE 6HP $5.32  
166-0130 CAPACITOR RUN 40 MFD $29.18  
166-0131 CAPACITOR RUN COVER GE 6HP $8.93  
166-0134 CAPACITOR, 009200075, FINI $35.70  
166-0138 CAPACITOR VPP0200604 01204-02 $36.63  
166-0139 CAPACITOR VPP0301104 01205-17 $36.63  
166-0143 CAPACITOR START  16622936 $61.46  
166-0144 CAPACITOR RUN 628318-313 $65.51  
166-0145 CAPACITOR COVER 174588-004 $18.76  
166-0146 CAPACITOR COVER 17821153 $71.74  
166-0153 CAPACITOR XINLET 1.5.052.082 $22.51  



Powermate, Inc                                                                                             January 2008 

166-0164 CAP, START EMER C103237300424OL $27.60  
166-0165 CAP START CVR EMER. C643035620012OL $8.81  
166-0166 CAP RUN EMER. C107558550062OL $31.35  
166-0167 CAP RUN CVR EMER. C643147990007OL $26.58  
166-0168 CAPACITOR CD 60 VPK0880803 $11.22  
166-0169 CAPACITOR CBB VPK0880803 $21.34  
166-0170 CAPR, 90UF/250V VPK1581768 $19.73  
166-0171 CAPR 600UF/150V VPK1581768 $24.71  
200-2270 MANUEL OPERATOR/PARTS WORKBENCH $7.55  
200-2271 MANUAL OPERATORS/PARTS $7.55  
200-2273 MANUAL PARTS B4900/B5900 $4.26  
200-2278 MANUAL OPERATOR/PARTS HC125A $7.77  
200-2282 MANUAL PARTS 30-33 GAL HOSE HOOK $1.67  
200-2283 MANUAL PARTS 33 GAL W HOSE HOOK $1.60  
200-2300 MANUAL PARTS CL0602713 $1.91  
200-2301 MANUAL PARTS CP0602013 $1.85  
200-2302 MANUAL PARTS CL0502710.NOM12 $3.03  
512-0029 2" PLUG W/1/4" NPT BSHG $43.77  
512-0033 2" NPT PLUG W/ 1" NPT $7.49  
512-0035 BSHG-1.5 NPSM X 1/4 NPT $7.17  
512-0038 RDCR-1.5 NPSM X 1/2 NPT $6.71  
512-0039 PIPE PLUG 1 1/2" NPSM $9.73  
512-0040 PLUG-PIPE, 2 NPSM $8.90  
512-0041 BSHG - 2" NPSM X 1/4 NPT $9.20  
512-0042 BSHG - 2"NPSM X 3/8 NPT  $9.20  
512-0043 BSHG-2"NPSM X 3/4NPT $9.66  
512-0044 REDUER - 1 1/2 NPS X 3/4 NPT $6.71  
513-0001 AS568-227 BUNA O-RING 2" $1.10  
513-0002 AS568-223 O-RING 1 1/2" $1.10  
515-0331 REPL TANK, 30GL H $1,010.51  
515-0332 REPL TANK, 50GL H $839.28  
801-0002 MUFFLER 4450K60 MCMASTER $50.08  
S034-0183 ASSEMBLY-SWITCH, VARIABLE SPEED $52.52  
S040-0352 PUMP-SERVICE, 753H $197.24  
S040-0354 PUMP-SERVICE, 755H $197.24  
S043-0151 VALVE PLATE ASY $41.39  
S043-0190 VLV PLT ASY, UMC $27.97  
S114-0587 HOLDER, AIR TOOL $14.66  
S114-0591 WELDMENT, HANDLE , MOUNTED HOSE REEL $27.38  
S114-0593 BRACKET $25.58  
S114-0596 BELTGUARD BRACKET 18 CFM $25.76  
S114-0619 BELTGUARD BRACKET V-TWIN CI $10.62  
S114-0624 BELTGUARD BRACKET 14 CFM $11.03  
S114-0624 BELTGUARD BRACKET 14 CFM $11.00  
S115-0289 BELTGUARD (BACK) $46.66  
S115-0292 BELTGUARD (BACK) 18 CFM $41.19  
S115-0312 BELTGUARD OUTER WIRE ROD $47.42  
S115-0318 OUTER BELTGUARD FORMED $55.21  
S125-0177 INNER BELTGUARD WIRE $55.01  
S125-0177 WIRE BELTGUARD INNER $55.00  



Powermate, Inc                                                                                             January 2008 

S125-0178 INNER BELTGUARD FORMED $61.25  
S125-0178 BELTGUARD INNER $61.25  
S125-0182 BELTGUARD INNER 14 CFM TOPS 80 GAL $50.62  
S141-0270 MANIFOLD ASSY MECHANICAL $62.28  
S142-0142 BELTGUARD $95.67  
S142-0143 BELTGUARD $101.02  
S145-0374 TRANSFER-TUBE, STACKER 123 $10.03  
S145-0419 TUBE, PUMP TO HEAD 15 GAL HZ UMC $8.91  
S145-0420 TUBE, MANIFOLD TO HEAD, 15 GAL HZ UMC $6.99  
S145-0432 TUBE, UNLOADER GAS 20 GALLON $10.33  
S145-0433 TUBE, BLEEDER, GAS 20 GALLON $10.00  
S145-0436 TUBE, X-FER 20-25 GAL HORZ $3.77  
S145-0439 TRANSFER TUBE 14 CFM $27.76  
S145-0440 BLEEDER TUBE 14 CFM $19.74  
S145-0441 TUBE, TRANSFER 18 CFM $29.45  
S145-0453 TUBE, PUMP TO HEAD, 15 GAL $10.19  
S145-0454 TUBE, MANIFOLD TO HEAD $6.81  
S145-0472 TRANSFER TUBE 6.00" $6.86  
S145-0478 X-FER 30 GAL VERT $11.06  
S145-0480 TUBE-TRANSFER PUMP TO CK VLV DS2.5 $11.39  
S145-0488 TRANSFER TUBE  14 CFM $25.35  
S145-0488 TUBE TRANSFER 14 CRM $25.35  
S145-0491 TRANSFER TUBE 3/4" SPECIAL K 80 GAL $22.21  
S145-0495 TUBE BLDR, 14 CFM KELLOGG $7.83  
S145-0495 BLEEDER TUBE KV5248069 $7.83  

 


	Air Compressor Service Parts Price List.pdf
	       Effective Date: 01/08 

	Air Compressor Service Parts Price List.pdf
	       Effective Date: 01/08 




